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TOPIC 1.3

Different Market Structures
Growth and Survival of Firms
Differing Objectives of a Firm

MCQ Section

1. The table shows some of the assump- 4. Which feature does a contestable

tions of perfect competition and mo-
nopolistic competition.

Which pairing is correct?

monopolistic

perfect competition competition

OO w >

barriérs toentry  |small number of firms
differentiated products | large number of firms
freedom of entry and exit|differentiated products

large number of firms

barriers to entry

[J08/P3/09]

A perfectly competitive industry be-
comes a profit-maximising monopoly.
The marginal cost curve of the mo-
nopolist is identical to the supply
curve of the perfectly competitive in-
dustry.

‘How -will output and price be af-

fected? -
:utput ' price
A | increases increases
B | increases decreases
C | decreases decreases
D | decreases increases ..
[J08/P3/010]

Why might a firm intrqduée a policy
of price discrimination?

A to achieve allocative efficiency

B to achieve productive efficiency
C to avoid diseconomies of scale
D

to turn consumer surplus into
producer surplus

[J08/P3/011]

market share with a perfectly competi-

tive market?

A Firms must be price takers.

B Firms must operate on a small
scale.

C There must be freedom of entry
to and exit from the industry.

D There must be many firms in the
industry. v

[NOS/P3/09]

Which characteristic would make it
easier for firms in an industry to
collude?

A low barriers to entry

B alarge number of firms

C rapid technological-change
D product homogeneity

[NOS/P3/Q10]

The diagram shows the cost and rev-
enue curves of a profit-maximising
monopolist. The monopolist’s average
cost curve is identical to the long-run
supply curve which would exist if the
industry was perfectly competitive.. .

HELPS o MCQ

1. C Basic assump-
tions

2. D Monopolist
charges higher price
and sells lower quantity
than perfectly competitive
market.

3. D Bycharging
higher price from specific
group of customers firms
appropriate  consumer
surplus.

4. C Both perfectly
competitive market and
contestable market share
the feature of free entry
and exit.- Options A and
D are- true in «perfect
competition but not re-
quired in a contestable
market. Option B is irrel-

- evant.

5. D Options'A, B
and C would make it diffi-
cult for firms to collude.

6. C In this case
deadweight loss is the
waste of consumer sur-
plus i.e. triangle XYV.
This is' so because mo-
nopolist charges a higher
price (0OW) and sells

“lower quantity (OT).
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. . ' p‘g.
';Nhlch area shows the deadweight A 5200 H$z
oss resulting from this monopoly - "W
situation? Py B 30 QQ

C $700
A WXYZ B WXVZ D between $200 and $600 7.0 M
: . argi
C Xvy D XVUT [N08/P3/Q13]  pricing is whg:gaé.%‘
[NOS/P3/Q11] Profit maximizing

The diagram shows the demand and
cost curves of a monopolist who ini-
tially produces at the profit-
maximising level of output.

MC AC

output

The monopolist is required by the
go.v.ernment to adopt marginal cost
pricing.

What will be the effect on the price
charged and the output produced?

_ price output

A increase increase

B increase decrease

C decrease increase

D decrease dccfease
[N08/P3/Q12]

8. The table shows the costs of two milk
producers. '

costs per litre
firm X $9
firmY $7

‘The price received by producers is $10
per litre. Both firms have been given
quotas allowing them to produce 200
litres per day. Firm X sells its quota to
fimY.

Assuming constant costs of produc-
tion and zero costs of entry and exit,
what price did firm Y pay (per day) to
buy X’s quota?

10.

costs, revenue

11.

A firm estimates that, all else remain-
ing unchanged, an increase in its out-
put will result in an equal proportion-
ate increase in its revenue.

What can be deduced from this about
the price elasticity of demand for the
firm’s product?

A Ttis-1.
B Itis+l.
C It is perfectly inelastic.
D It is perfectly elastic.
' [J09/P3/Q7]

The diagram shows the initial cost
and revenue curves of a profit-
maximising monopolist.

A

MC

.......................

AR

Y

P s

What output will the firm produce if

‘the government fixes the price at OP?

A O]
Cc Ou

B OK
D OM
[JO9/P3/08]

What is a feature of monopolistic
competition, but not of perfect compe-
tition?

A asmall number of buyers
product differentiation -
the existence of abnormal profits

oaw

' the existence of barriers to entry
[J09/P3/Q9]

is where MC = ;fgm“’“‘
We need to dray M
then locate the ty, 8
tions and  identjf :
re:sulting changes ip b
price and output,

8. D Profit eameq
firm X from selling Quoty
in the market ig $20
(81 X 200 = 200), Ty,
firm will be tempteq o
sell its quota if t jg ¢,
fered a greater amoun|
than what it expacts )
aarn from the market jg,
> 200. Firm Y will b
able to add profits | |
buys firm X's quota
for < $600.

9. D Equal proportion-
ate increase in TR sug.
gests that the firm I
price taker and faces a
perfectly elastic demand
curve.

10. B Price fixed by the
government at OP chan
ges firm's MR. In order fo
derive new MR curve we
draw a horizontal line
from the price up to the
AR curve and locate the
profit maximizing oulp}ll
on x-axis from the poit
where MC = MR.

11. B Product homog®
neity is an essentd
feature of a petrfecﬂY
competitive markel:
Optizns A and D relate
none of the two m§rkel$1
whereas option C 8 :
for both types of market
in the short run-
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12.

A

B

C

D

13. In whi
cease p

A

B

Which assumpt
market to be contest
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jon is essential for a
able?

The market is supplied by a large
number of firms. _

Firms are free to enter and leave
the market.

Firms cannot earn abnormal prof-

its in the short run.
Firms produce differentiated

ods.
& [J09/P3/Q10]

ch circumstance will a firm
roduction in the short run?

It makes a profit that is less than
its total variable costs.

It makes a profit that is less than
its total fixed costs.

Its average revenue is less than
its average cost.

[ts average revenue is less than
its average variable cost.

[J09/P3/Q12]

14. The diagram shows the long-run av-
erage cost curve of a typical firm in an
industry and the demand curve for

the industry’s product.

revenue,
cost

1 LRACﬁrm .

15. The

enue curves of a

mon

revenue,
cost

Topic 1.3 @ page 3

dingram shows the cost and‘ rev-
proﬁt-maximlsmg
opolist. ‘

)

e

SR

~Sccmad
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o Q
output

What measures the monopoly profit
per unit of output made by the firm?

A

B
C
D

M
JK
JM x 0Q

JK x 0Q
[J09/P3/Q13]

Dlndustry

Dlndustry

0

output

Which market structure is most likely
to occur in this industry?

A

O w

monopolistic competition
monopoly
oligopoly
perfect competition
[J09/P3/Q11]

16. What could cause a perfectly com-
petitive firm’s marginal revenue prod-

uct

of labour curve to shift to. the

right?

o aw >

an increase in wages

a higher rate of sales tax

an increase in labour supply
arise in the price of the final

product
[N09/P3/Q4]

12. B A contestable
market is characterized
by 'costless entry and
exit'. Options A, CandD
are not required for a
market to become con-
testable.

13. D In the short run
a profit maximizing firm
continues to praduce as
long as AR>AVC and
ceases production only
when it incurs loss on
variable cost (AR<AVC).

14. C The graph indi-
cates that the firm in
question is large relative
to the size of industry but
there is room for other
firms too.

15. B At profit maxi-
mising output 0Q, the
difference between ATC
and AR is the profit per
unit.

16. D MRPL = MPPL
x MR.. An increase in
either marginal physical
product of labour or mar-
ginal revenue of the prod-
uct would- shift MRP of
labour curve to the right.
Options A and C result in
a movement along the
MRPL curve, whereas
option B is likely to shift
MRPL curve to the left.

T

1
'

|
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17. In the diagram, MRP, is a firm’s mar-
ginal revenue product of labour
curve, S is its supply of labour curve,
and MC; its marginal cost of labour
curve.

labour

", Assuming profit maximisation, how
~'many workers will the firm employ and
~what wage will it pay?

\

number
employed \wage
A TN W;
B N, W,
c|l ' N W,
D N, W,
[N09/P3/Q5]

18. What is an example of a wage differ-
ential that compensates for the disad-
vantages associated with particular
jobs?

A

male workers earning more than
female workers in the same job

the tendency for wage rates
negotiated by trade unions to
exceed those for non-unionised
labour

labourers on off-shore oil rigs
earning more than those em-

'ployed on-shore

government office workers being
paid more than private sector of-

- fice workers

[NO9/P3/Q6] .

- Topic 1.3 o Pagq
4

19. The diagram shows the initial position
of a labour market.

4

weekly
wage

3

0]

S
7

\i

number of workers

The government introduces a law re-
ducing the statutory working week
from 39 hours to 36 hours.

How will this affect the supply and
demand curves in the diagram?

employers’ | workers” supply
demand curve curve
A | shifts to right shifts to left
B | shiftstoright | shifts to right
C shifts to left shifts to left
D shifts to left shifts to right
[N09/P3/Q7]

,HE_LPsb MCQ

7.B A proj
mizing ﬁ,fn f'; May;
workers where ‘:{Ys
MCL, and the yg e
for workers em ;
indicated by
curve.

18. C  Labourer
shore oil rigs eamis o
due to the disadvanty
associated with-the job,
In other options Wage cu'.
ferential is not ass0cialeq
with the job.

J
Ployeq i

19. D A reduction j,
the statutory Working
week is likely to ge.
crease MPPL thus ¢s.
creases MRPL and gz
mand for labour. Lesy
number of working hous
will encourage more work-
ers to seek work hence
increases  supply o
labour.



p_—r

A Level Economics (MCQ)

‘Toplc 1.3 © page 5

20. The diagram shows an industry pro-
ducing under conditions of constant

average costs.

$

X !

5 z
'

i Wi, :
R |
A

0 S MR V

output

Under perfect competition, the
industry produces output OV,

Which arca measurcs the logs in con-
sumer surplus if it were to become n

monopoly?

A YWZ B XYW
C XYZT ) A VAY
INOV/P /0]

21. The price clasticity ol demand for n
firm’s product is zcro,
What will be the cffcet on the finm's
revenue if it incronses He price by
5%"7
A 1ts revenue will be unchanped.

Ao

B lts revenue will incrense by 5 Y,
C  Its revenue will docrense by 5 %
DIty revenue will fall 10 2e10,

INOYPIOI0)

22, "The dingram shows (he short=run o
sitton of a monopolist who belleyes
that, In the long run, excessive profit
might attract new entrants (o he In:
dustry,

If the monopolist belleves that al

prices above Pe new competiions
vould enter, whish output would he

‘C'h:/nmu to protect lils long=run prof’
5

'HELPS 0 MCQ

21+ ISP, NSO RS PSSP I A P M

| ]

' ; MC=AC

] ] \ \

N

] | \ |

] ] ! |

|| NMR | R
0 A B c..D g

output
[NOV/PIQOIT)

23, The dingram shows the cost and rov-
enne curves ol n monopoly producer
whose only cost of production 18 o
lixed cont,

\ AFG

ontput

Whint Wil saeh w monopolist do?

A et priee o ON b the whort ran
el the long tin

I el i price of ON Qo the whort ran
and the Tong ran

Ct el prioe ol ON T the ahort o,
but diseontinue produetion fn the
[ongs run

D wet i priee of ON I (he Ehort ran,
bt diseontinue prodoction n (e

long ron
(NOV AN

20, C  Profit maximizing
monopolist would produce

S output and would sell
thia at OX. As a rasult
consumar surplus falls
by XYZT,

2.8 TR=PXQ
thua a 5% Incroase in
price with Q remaining
unchanged will lead to
S5 Increase In TR,

206 Al price Pa the
monopoliat would ba able

1o gell OC output,

20D The monopoliat
neura foan al all output
lavelt, but In the ahort
an, al leaat, ha would
ba prapared o produce
the laval of output that
minimizen lons Lo, wher
MIL = 0, howavar loan
Cannot be ineuned in the
long tun tharafore he
WOUl dligoontinug proce:
lon,
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24. A country's steel producers are mem- C 'The demand for air travel on the HELp )
bers of a cartel, BEach member is allo- Singapore-Sydney route is price- 8 MCQ )
cated a production quota, and initially

clastic, s
produces the maximum allowed under D

There is no cffective substitute
its quota.

for air travel for journeys between
Singapore and Sydney.

[J10/P3/Q9]

What will be the effect on total steel
production and the industry's total
profits of allowing the producers to
trade the quotas among themselves?

2.c Trading

of
among membgyg -
not affect the tota‘lN:tu{d
production byt induslBE|
s

total profits arg lik

27. The table shows information about a
profit-maximising firm.

cflect on
production

eftect on total
profits

. . output 17 000 units rise as the buyingelling
A InGleoe HHIEEREE price per unit $1.75 ng:]l:cge able 1o gy, 9
B increase no change fixed costs $10000 nomies of sealy
& na change inereae variable costs per unit $1.70 -0
D no change no change
What should the firm do? P

[N09/P3/Q13] 3
A close down immediately because - '§
it is not covering its fixed costs

25. The diagram shows a firm’s demand

curve and its marginal revenue curve. B close down immediately because 0

it is not covering its average + Quandy

I\ L

costs

run because it is covering its vari-

26. A Ease of exitisg

. C close down immediately because ~ distinguishing fealure o
F/ it is not covering its total costs a contestable marke!,
D continue production in the short 27 D Price peruri

< ATG, but the prica per

price unit > AVGC, thus fim

must continue production
in the short run.

able costs
[J10/P3/010]

28. C  Profit maximizing
level of output is where
firm's MC = MR. (n s
case P = MR). Total profl
at output where MC=MR
"is PHJL. Total profial
output Oq is PGNM.

28. The diagram shows a firm’s marginal

and average cost curves.

Y

The firm enters a collusive agreement
with other firms in the industry. It is
agreed that each firm will charge a
common price, OP, and will restrict the
level of its output to a production

quantity

What is the approximate price elastic-
ity of demand at price OP?

A 025 B 05 quota set by the industry cartel.
C 1 D 2 The firm is allocated a production
[J10/P3/Q8] quota, Oq.

s
26. In the absence of regulation, why is it 4 :
likely that the market for air travel on
the Singapore-Sydney route would be

highly contestable? , 15‘ ‘

A An airline entering the market
would lose little if it later exited
that market.

B The airline industry’s capacity to

expand its operations in the quantity \
short-run is limited.
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The firm dectdes to cheat in onder to
maximise its profits,

What is its short-run increase in
profits?

A RXL

B PHIL

C PHIL minus PGNM

D PGKL minus LKNM

[16P3011]

29. A competitive market becomes a
monopoly.
What is likely to happen?

A Consumer surplus will be

reduced by the amount of the
deadweight loss.

Producer surplus will be reduced
by the amount of the deadweight
loss.

The loss in consumer surplus will
be balanced by the increase in
producer surplus.

There will be a transfer of surplus
from consumer to producer.

[J10/P3/012]

30. The diagram shows a firm’s cost and
TEVENue CUrves.

i

MC
AC

o)

MR Q AR
output

What could explain why the firm
produces output OQ?

A

"B

It is operating in a contestable
market.

It is operating in a perfectly
competitive market.

It is seeking to maximise profits.

It is seeking to maximise sales

revenue.
[NI10/P3/09]

31, A firm wishes to acquire some of the

consumer surplus its customers cur-

rently enjoy.

How might it achieve this?

A

by introducing price discrimina-
tion

by reducing operating costs

by setting a price that maximises
revenue

by taking advantage of econo-

mies of scale
[N10/P3/Q10]

32. A perfectly competitive firm finds that
at its current level of output, marginal
revenue is $2.00 and marginal cost is
S$250.

If the firm is a profit maximiser, what
will happen to its price and output?

price output
A increases ~ decreases
B increases unchanged
C unchanged decreases
D unchanged unchanged
[N10/P3/011]

33. The diagram shows the outcome
when a perfectly competitive market is
taken over by a2 monopoly.

A

N

quantity

What does area X represent? '

A

B
C
D

monopoly profit

the reduction in consumer surplus
the resulting deadweight loss
transfer earnings

[N10/P3/Q12]

HELPS © MCQ

MC

1\ [
X AR
MR >
0 qm qc

Price of the product is
likely to increase from pc
to pm resulting in a fall in
consumer surplus by the
area 1 & 2. Rectangle 1
shows transfer of con-
sumer surplus to produc-
ers, while triangle 2 is
part of deadweight loss,
hence options A, B & C
are incorrect.

30. A A perfectly com-
petitive firm faces infinite
elastic demand curve
hence option B is incor-
rect. Also the output is
higher than the profit or
revenue maximizing out-
put hence C and D are
incorrect. In a contestable
market the existing firm
2arns just enough profit
that deters the entry of
new firms.

3L A

A

Pl
py/

D

O q q

Firm can acquire con-
sumer surplus measured
by the shaded area by
selling its output at two

. different prices to different

groups of consumers.
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34, A produet with infinite elasticlty of

supply has sales of 1000 units n week
at a price of §1 per unit, Price elnstic-
ity of demand is 1.5 over the relovant
range. ‘

The government imposes u tax of' 10

What will be the government's weekly

" tax revenue?

35.

A SIS B $85
C $100 D $150
[I1/P3/Q7]

What is the likely outcome for pro-
ducers and consumers when a market
moves from being non-contestable to
being a contestable market?

. Topic 1.3 8

37, A government imposes a maximum

38.

price for electricity.
Which statement justifying this mea-
sure might be considered valid on
cconomic grounds?

A It will encourage clectricity
supplicrs to invest in additional
capacity.

B It will increase the incentive for
consumers to conscrve cnergy.

C It will prevent the monopolistic

~ exploitation of consumers.

D It will prevent the rationing of
clectricity through power cuts.

[J11/P3/Q11]

To prevent a surplus of milk, cach milk
producer is given a production quota

producers consumers which specifies the volume of milk he
A | gain from higher | gain from a wider is allowed to supply.
prices choice of products Initially the quotas are not tradable,
B | gain from likely lose from likely but then trade in quotas is allowed.
higher profits higher prices Who would gain or lose when trade in
C | lose from likely | lose from a reduced quotas takes place?
lower output choice of products
D | ‘lose from likely gain from likely purchasers of sellers of
- lower profits lower prices quotas quotas
[J11/P3/08] A gain gain
B gain - lose
36. A firm is engaging in price discrimina- C lose gain
tion. D lose lose
In order to maximise profits, what
should the firm do? [N11/P3/Q3]

A charge a higher price to consum-
ers earning higher incomes

B charge a higher price to consum-
ers earning lower incomes

C charge a higher price to consum-
ers whose demand for the prod-
uct is price inelastic

D' charge a higher price to consum-

~ers whose demand for the prod-
uct is price elastic

- [11/P3/09]

39.

Which would be least likely to
practise price discrimination?
A abaker

B acinema

C a hairdressing salon

D

a restaurant
[N11/P3/010]

© & exit barriers. '
" fore, producer

\a\ﬂo\a
HELPS ;o
32 C Q

4 q

Q
Currently firmys MCsyy
whereas Profit ig may;
mized at MC = MR, T ul'
output must decrease s
perfgctly compelitive firm
IS price taker hencg ¢,y
not change the prige,

3B.C  AreaXip the
graph represents Waste
of consumer surplus dye
to a fall in output,

34. B A 10% tax yi|
increase the price by
10% because when sup-
ply is infinite elastic price
rises by the amount of
tax.

0 .
PED = % chan:ge‘m )
% change in price
So, -1.5= i
10%

Thus X=15%i.e QD
falls by 15%. And 15%
of 1000 = 150 units.

"So the new quantly

traded = 850 units and
tax per unit is $0.1 (10%
of §1)

Tax per unit X quanty
traded = governmen's
tax revenue, hence:
$0.1 x 850 = $85

35.D A contestgbl;
market is charactenze

bsence of €N
by the a Tide

[
lo lose pecause they i
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40, The diagram shows the cost and

s,

re/enueg

0 W

41.

42.

revenue curves of' a monopoly,

3
AC

MC

\

{|----eemeerea

Np~-veermrmeacas

(74
~<

MR output

Which movement between levels of
output would indicate a wish to
change from unit cost minimisation to
eaming a normal profit?

A WtoY B WtoZ

C XtoW D XtoZ
[N11/P3/011]

What will increase the likelihood that -

the firms in an industry will collude to
maximise their joint profits?

A The industry consists of a large

number of producers.

B The industry has many differenti-
ated products.

The industry is characterised by
rapid technological change.

There are significant barriers to
prevent new firms entering the
industry.

[N11/P3/012]

The five firm concentration ratio for

an industry changes from 50 % to
60%. -

Which statement about the industry is
correct?

A Each firm has become more effi-

cient.

B

The industry has become more
oligopolistic.

external economies of scale.

The industry now has fewer bar-
riers to entry.

[J12/P3/010]

The industry has benefited from-

43 The dingram shows the long-run cost

44.

and revenue curves of o monopolist,

\

g3
= |
S 8
?
B LRAC
; ~—LRMC
0 WX Y 'z g
MR output

Which level of output satisfies the
condition for an efficient allocation of
resources?

A OW B OX
C oy D Oz
[J12/P3/016]

The diagram shows the cost curves
of a firm in a perfectly competitive
market.

A

Tople 1.3 © pugo 9
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30, C A higher price to
consumor whoso domand
for tha product Is Inolastic
will Incroaso tho firm's
rovenuo and prolits, This
rules out option D whilo
A & B aro irrolovant in
the context of maximum
profits ,

37. C The firm with
monopoalistic power tends
to exploit consumer by
charging a higher price.
Options A & B are con-
trary to the likely impact
while D is irrelevant.

38. A Purchasers of
quota gain by producing
and selling additional
quantity of milk while
sellers gain from selling
any unused amount of
quota which otherwise
would be wasted.

39. A Out of the four
businesses, baker is least
likely to charge different
prices for the same prod-
uct.

ATC
AVC
X
cost
0 :: -

output

Which segment of a curve shows the
quantity that the firm would be willing
to supply to the market in the short-
run?

A WX B UZ
C vz D WZ
[J12/P3/011)

40. D Lowest per unit
cost is at OX output,
while normal profit is at
0Z, i.e. AC = AR.

41. D - Significant barri-

. ers would help collusion

to charge a higher price
without a fear of losing

‘market- share to the new
-‘entrants.’ Other options

would clearly. make it
difficult to form collusion.
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45, A perfectly competitive firm is cur-
rently producing at a level of output
where its marginal cost is above both
its average total cost and the market

price,
What will be the effect on price and
output if the firm were to maximise its

profit?
- effect on output | effect on price
" decrense increase
decrease unchanged
increase decrease
increase _ unchanged
| 120P3/012]

46. What would be the effect of imposing
a specific tax on each item p.rogiu.ced.
' by a profit maximising monopelist?

A Average revenue falls by the
- amount of the tax,

B Marginal “costs rise by the
amount of the tax.

C Price increases by the amount of

the tax. .
D There will be no change in price

or output,
[N12/P3/Q7]

47. What is meant_b_y a four firm concen-
tration ratio of 25%?

A The largest four firms’ market

share totals 25%.
B The largest four firms have a mar-
ket share of 25% each,
There are only four firms in the
industry.
The largest firm has a 25% market

share.
‘ [N12/P3/Q11]

48. Instead of charging all its customers
the same price, a firm decides to
charge different prices in different

 markets,

How is this likely to affect consufner
surplus and the-firm’s marketing
- costs? _

49, The diagram shows a p

E |

Topic 1.3 © pag, i ‘

consumer marketing

surplus costs

A decrease decrease

B decrease increase

C increase decrease

D increase increase

I
: [N12/P3/Q12]

rofit-

maximising firm’s cost and revenue

‘HELPS fo MQQ

42. B Higher {p,
the more oligopoligt,
industry becomes;
options are not

[
lo CR in any. way, Pl

43. D In thig
.~ LRMC = AR repras:ste
efficient allocation, !
44, C The risin
SRMC curve ab%\?:nt:'
AVC curve Is the ﬁrm':
short run supply ey,
Firm does not supply
the price falls below
lowest point of Ayg
curve,

45. B Currently the fim
Is producing beyond iis
MC = MR. Therefore qu.
put must decrease hoy
aver, the firm cannot a
fect market price be

.. cause all firms ara prica

curves,
MC

t MR
Q
.- AC
: O

o

N 11 AR
0 w XY Z output'

What would be the increase in the
firm’s output if it was required to
charge a price equal to marginal cost?

A WX
C WY

B XY
D XZ
[N12/P3/Q13]

50, In which market situation will a firm
take account of the reactions of its
competitors before deciding to cut its

price?

A monopoly

B
C oligopoly
D

51. The demand for a firm’s product is
perfectly inelastic. d i

monopolistic competition

perfect competition

[J13/P3/Q1]

What will be the effect on the firm’s
revenue if it increases its price by

3%?

A Tts revenue will be unchanged.
B Its revenue will increase by 5%.

takers in a perfectly com:
petitive industry.

46. B A tax on outpu
increases - MC by the
amount of per unit fa,
but P rises by less than
the amount of tax &nd
output decreases, Ihus A
C & D are incorrect

47..A CR=
sales of top 4ims__ 4y
total sales of Industry

CR measures the
centage of markgt sharé
held by top few fims.

48, B Price discriminé
tion shifts CS to the i
thus CS dacreases: 1

ever firm wil have ¢
spend more " ma’kem:nqt
its product In differ®

markets.

49, ¢ Pl MRy

output = ow, W
firm's MC=MR). H(:;:e
MC pricing requ"ere i
firm to produc® it
MC = AR’

per

iz

8

g
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C  Its revenue will decrease by 5%. 54, The curve in the diagram shows the

cost,
revenue

D Its revenue will fall to zero,
[J13/P3/Q10]

52, The diagram shows a firm’s cost and
revenue curves,

]

capltal

o oUtput

The firm changes its objective from
sales revenue maximisation to profit
maximisation, .
Which groups are most likely to be
winners and losers as a result of this
change?

winners losers
A | customers managers
B managers workers
C workers shareholders
D | shareholders | customers

[J13/P3/Q11]

' minimum combinations of capital and

labour that are needed to produce 100
units of output.

{

Q=100

0 >
labour

A firm’s management hjres the combi-
nation of capital and labour indicated
by point G in the diagram to produce
100 units of output,

Which term best describes this situa-
tion?

A lack of specialisation

o]

}  managerial discconomy

C market failure

D X-inefficiency

[J13/P3/014)]

. The diagram shows a firm’s cost and

revenuce curyes,

MC

HELPS 1t MCQ

50, C " In an oligopolistic
market a higher degree of
interdependence forces
the firms to take geeount
of reactions of rival firma.

51, B Px0Q=TR, thug
a 5% increase in P with
Q remaining unchanged
will increase TR by 5%.

52. D MC = MR (Profit
maximization) implies hig-
ner price than MR =0
(revenue maximization).
Thus higher price benefits
oviners (shareholders),

53, D Options A, B 4
C will weaken the cartel
while stability of market
will favour it,

54, D Point G lies
above the minimum
jJuantilies of capital and
labour required to produce
100 units of output, there-
fore, indicates X ineffi-
ciency, Options A & B
are related lo the costs
while Cis irrelevant,

55, A Diagram sug-
gesls Ihat profit maximiz-

— A T A T — L —

53. Which change would make it easier ing price (MC = MR) is

for a cartel to operate effectively? fgjén " AC nigher than sales ravenug
A an increase in competition from maximizing price (MR =
closely related industries vln Tiergioe Cusiomers
gain from lower price and

B anincrease in the number of firms MR AR shareholders lose from
in the industry 0 > the resulting lower profit ,

; : output
C an increase in the range of prod- d

ucts made by cartel members

D an increase in the stability of the
market for its products

The firm changes its objective from
profit maximisation to sales revenue
maximisation,

Which groups are likely to be winners

WI3/PIQI3] and losers gag a result of this change?
winnsrs losers
A customéfs shareholders
B managers customers
C workers managers
D | shareholders workers

[N13/P3/Q10]
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56. The table shows some of the
assumptions of perfect competition
and monopolistic competition.
Which pairing is correct?

monopolistic

perfect competition S
competition

A barricrs to entry small number of firms
B | differentiated products | large number of firms
C |freedomofentry and exit|  barriers to entry

D | large number of firms  [differentiated products

[N13/P3/Q11]

57. The diagram shows the initial cost
and revenue curves of a profit-
maximising monopolist.

(]
48 MC
o R AL
N AR
b1 MR
0 J K outputr

What would: cause the firm to increase
its output from OJ to OK?

A The government fixes the price at
OP. ’

B The government requires the firm
to charge a price equal to marginal
cost.

C The government imposes an indi-
rect tax on the firm’s product.-

D The firmis allowed to earn only a

normal profit.
[N13/P3/Q12]

58. What makes it most likely that a firm’s
profits will be volatile and subject to
substantial fluctuations?

A Fixed costs are a high percentage
of total costs.

B It produces a diversified range of
products. i

C It produces basic consumer prod-
ucts.

D It sells its product in a number of
different markets.
[N13/P3/Q13]

alll
59. A monopolist faces a downward- HELPS Mc
sloping straight-line demand curve. Q

Which diagram shows his total
revenue curve (TR)?

total .

e 56. D Perfect compatj.

tion is characterizeqd by

TR large number of firmg

while differentiated prog.

uct is a distinguishing

sharacteristic of monopo.
listic competition.

57. A After government
fixes maximum price af

total OP firm's new MR = MC
revenue ™R is at OK.

58. A Fluctuatibns in
. E autput will have more im-
output pact on firm's TR than its

TC.

59. C As we move
downward along a straight
line demand curve, TR
on the upper half rises
and on the lower half
falls.

total
revenue TR

0 cutput

TR

total
revenue

Y

0 output

[J14/P3/011]
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60.- The diagram shows the cost and rev-
enue curves of a monopolist.
Which output will the firm produce if
its aim is to maximise sales revenue?

costs,
revenue

P

Which area measures the increase in

the industry’s profits if it were to be- |

come a monopoly?

A XYSO B XYWT
C XYZT D . YZW
[NI14/P3/Q11]

AC

AR

(@]

b -3 T

m = o T
O
U cecmeace——-

output

[J14/P3/Q12]

61. The price elasticity of demand for a
firm’s product is zero.

What will be the effect on the firm’s
revenue if it reduces its price by 5%?
A Its revenue will be unchanged.

B Its revenue will decrease by 5%.
C Its revenue will increase by 5%.

D Its revenue will fall to zero.

[N14/P3/010]

62. The diagram shows an industry pro-
ducing under conditions of constant
average costs.

cost,
revenue

\

63. The diagram shows how a firm’s aver-
age profit and marginal profit vary at
differing levels of output.

\

/4

If the firm produces output OQ, which
statement is correct?

profit

O

\i \ output

marginal average
profit profit

A The firm is earning a zero profit.

B The firm is making a normal profit.
C The firm is maximising its profit.
D

The firm is producing above its
profit-maximising output.

[N14/P3/Q13]

LRAC, LRMC

I

=3

N s’ ( ¥

o
m ——mm e ——-—
<
P

output

Under perfect competition, the indus-
try produces output OV,

HELPS to MCQ

7

60. B MR=0

61. B PxQ=TR. So,
when PED =0, a 5% re-
duction in P will leave Q
unchanged hence resulting

in a 5% fall in firm's rev-

enue.

62. B Monopolist will
produce 0OS (where
LRMC = MR) and will
charge a price OX. Thus
the difference between
price (OX) and average
cost (OT) multiplied by
0S = XYWT

63. C When MP = 0,
TP is maximized.
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04. When is collusion likely to be suc-

cessful In an oligopolistic market?

A Barrlers to entry are relatlvcly
low.

B Firms have accurate information
about each other’s output levels,
C There are significant differences
in the firms’ costs of production.

D' There are significant fluctuations

in demand from one period to an-
other,

[N14/P3/Q12]

65. A firm wishes to acquire some of the

consumer surplus its customers cur-
rently enjoy.

How might it achieve this?

A by introducing price discrimina-
tion
B by reducing operating costs

C by setting a price that maximises
revenue

D by taking advantage of econo-
mies of scale

[N14/P3/014]

66. A country’s steel producers are mem-

bers of a cartel. Each member is allo-
cated a production quota, and initially
produces the maximum allowed under
its quota.

What will be the effect on total steel
production and the industry’s total
profits of allowing the producers to
trade the quotas among themselves?

effect on effect on total
production profits
A increase increase
B increase no change
C | nochange increase
D no change no change
[N14/P3/Q15]

L LY
67 The diagram shows the number and  HELPa , o &
amount of fines ($m) imposed by the P8 Me¢
US Department of Justice for firms’ il-
legal cartel behaviour between 1980
and 2011,
126 A - 1000
100 -—/A\‘\ % £\~— 800
vy,
754 A 1 600
number v /\ ] {"./ i amount
offines \\\ ‘ [I ;\_ 400 M
zn
o
25 '.v‘ v - 200
0 ﬂT] i..l.‘lhl..].'l";.l - 0
1620 1990 2000 2011
key
~—— number

68.

......... amount

What is the most likely conclusion
from the diagram about the view of
the US Department of Justice of firms’
cartel behaviour?

A It believed that cartel behaviour
was unimportant before 1980.

B It beliecved that illegal cartel
behaviour was insignificant in
2011.

C It believed that increasing fines
was necessary to deter cartel
behaviour.

D It believed that the free market
can regulate cartel behaviour.

[N14/P3/Q19]

The diagram shows the demand curve
for a firm’s product.

orice T
\__D
@)

quantity

Which diagram depicts the shape of

the firm’s corresponding total revenue
(TR) curve?

64. B Options A, ¢ &
D will make it difficul
collude.

65. A Policy of price
discrimination makes the
firm to earn higher profi
by acquiring consumer
surplus.

66. C Over all quota
remains unchanged,
therefore, production lev-
els remain unchanged.
However trading quota vl
give an opportunity toin-
dividual firms to eam
higher profits.

67. C A fall in number
of fines and an increasé
in the amount of fines
suggests C.

68. C Typical she®
of TR curve fora straighl
line downward slopi
D curve.
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ravanua

-

o

ravanuo

Q

A B
R !
2
————————
quantity quantity
Cc D
TR
S
b=}
=
RS
quantity quantity
[J15/P3/Q10]

69. The firms in an industry all produce a

70

-

homogeneous product, but each firm
is able to influence the price it
charges for its own product.

In which market structure do the firms
operate?

A perfect competition

B monopolistic competition

C oligopoly
D

monopoly
[J15/P3/011]
The table shows information about a
profit-maximising firm.
price per unit $1.70
fixed costs $10 000
variable costs per unit $1.75

What can be concluded about the
firm’s behaviour?

A It should close down immediately
because it is not oovermg its av-
erage costs,

B It should close down immediately
because it is not covering its vari-
able costs.

C It should continue production in
the long-run because it is cover-
ing its total costs.

D It should continue production in
the short-run because it is cover-
ing its fixed costs.

[J15/P3/Q13]

7].

cost,
revenue

72.

The diagram shows the cost and rev-
enue curves of a monopoly.

)

MC
AC

MR AR

o) %
output

What is the firm’s objective if it pro-
duces output 0X?

A to achieve normal profit
B to maximise profit

C to maximise total revenue
D

to minimise average cost

[J15/P3/012]

Firms can grow either externally or
internally.

What represents internal growth?

finding | merging with merging
new rival firms in | with firms
export the same in other
markets industry industries
A no ) no yes
B no yes no
C yes no no
D yes yes yes
[N15/P3/Q10]
73. A firm, operating in an imperfectly

competitive market, produces at the
level of output where the price elastic-
ity of demand for its product is equal
to unity.

What has the firm achieved?

A normal profit

B maximum profits

C maximum revenue

D maximum sales volume

[N15/P3/Q11]

HELPS bt MCQ

69. C Firmsin
monopolistic competition
sell only differentiated
product while a monopo-
list sells a unique prod-
uct. Also in this case the
firms can influence mar-
ket price, therefore, it
rules out perfect compe-
tition.

70. B If P < AVC the
firm can avoid loss on
VC by closing down.

71. C Sales revenue
maximization is where
MR=0.

72. C  Merger is a way
of external growth,

73. C When PED = -1,
the firm's MR = 0. This
is where the firm maxi-
mizes revenue.
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74. The table shows the five-firm concen-
tration ratios for a selection of indus-
trics in an cconomy.

pereentage of total sales
industey accounted tor by the five
R largest firms in the industry

(%)
tobacco 95
steel 60
water supply 60
printing 12

What can be concluded from the
table?

A The firms are of equal size in the
steel industry and the water sup-
ply industry.

B The printing industry is more
competitive than the tobacco in-
dustry. '

C The tobacco industry is a mo-
 nopoly market.

D There are more firms in the to-
bacco industry than in the water
supply industry.

[N15/P3/012]

Instead of charging all of its custom-
ers the same price, a firm decides to
charge different prices in different
markets.

7S:

How is this likely to affect consumer
surplus and the firm’s marketing

costs?
consumer marketing
surplus costs

A decrease decrease

B decrease increase

C increase decrease

D increase increase .
[N15/P3/Q14]

76

cost, revenue

. The dingram shows the initial cost
and ‘revenue curves of a profit-
maximising monopolist.

#

MC

AR

I

i
|
|
i
|
L

K

P P

0 M output

What output will the firm produce if

the government fixes the price at OP?

A O] B OK

C OL D OM
[N15/P3/Q13]

77. The diagram shows the demand

A
cost,
revenue
Pc , S, =LRAC,,
i D; =AR,
(@] - P
Qc output

curve, D¢, and supply curve, S, of a
perfectly competitive industry.

The .industry is taken over by a

monopolist. The monopolist’s long- -

run average cost curve, LRAC,,, is
identical to the supply curve of the
perfectly competitive industry.

. What will be the effects of the

takeover on profit and allocative
efficiency? ’ '

pone | oo
A |  decreases “'decreases -
B decreases _ increases
C increases decreases
D increases increases
[N15/P3/Q15]

Topic 1.3 © pagg‘

7. B CR me

the percentage ?ju:ﬁs
market share held
top few firms, The lowe
the value of CR th;
higher is the industry's
competitiveness,

75. B Price discrimins,
tion helps a firm to con-
vert consumer surplus
info producer surplyg
however the firm may bé
required to spend more
in order to separate mar-
kets.

76. B P=MC

7. C
A

Monopolist's

profit

Pm
Pc

LRAC
MR, DC=AR,

—»
>

Monopolist's MR curve
is drawn below his AR
curve. MC = MR suggests
Pm as monopoly price
and the shaded area
represents increase in
profit. In both markets
LRAC =MC, SoP= MQ
in perfect market whlle
P > MC for monopolls!,
therefore allocative effi
siemcy decreases.



g, o S
T

—

B L W cnal v ad

A Level Economics (MCQ)

Topic 1.3 © page 17

78. What action by a firm is most likely to

79.

80.

raise its dynamic efficiency?

A distributing all its current profit to
its existing shareholders

B maximising the labour productiv-
ity of its current workers

C minimising the average cost of
producing its current output

D retaining its current profit for
product research and develop-

ment
[J16/P3/Q1]

Which statement about the ‘kinked
demand curve’ model of oligopoly is
incorrect?

A The kink in the demand curve of
each firm is based on expectations
about other firms’ responses to
changes in its price.

B The marginal revenue curve of
the firm has a vertical segment at
the market price.

C The model explains how the equi-
librium market price is determined.

D The model suggests price sticki-
ness within a certain range of

marginal costs.
[J16/P3/06]

A firm estimates that, all else remain-
ing unchanged, an increase in its out-
put will result in a fall in its revenue.
What can be concluded from this?

A The demand for the firm’s product
is price-elastic.

B The demand for the firm’s product
is price-inelastic.

C  The supply of the firm’s product i

is price-elastic.
D The supply of the firm’s product
is price-inelastic.
[J16/P3108]

81. A monopolist changes its objective

cost,

revenue

from profit maximisation to salcs rev-
enue maximisation.

|

AC

AR

output

0 Q Q

On the diagram, which areas represent
the monopolist’s total profit?

original profit final profit
A P,HIP, P-KLF
B P HJP, JKLG
C P\HGF P-KLF
D P HGF JKLG
[J16/P3/07]

82. The diagram shows the cost and

cost,
revenue

revenue curves of a firm.

A
MC

ATC

MR
0 quantity

Y

What does the diagram represent?

A  a firm in monapolistic competition

making normal profit

B a firm in-monopolistic competmon
making short-term losses -

C a firm in perfect competmon at
long-run ethbrlum

D a monopoly making abnormal

profits , :
[J16/P3/09]

~(MC ='MR),

HELPS (© MCQ

78. D A firm is dynami-
cally efficient if it con-
ducts R & D.

79. C It does not ex-
plain how a firm attains
equilibrium rather instead
it explains why they
maintain their prices.

80. B An increase in
firm's output implies a fall
in its price and as a con-
sequence if TR de-
creases then the firm is
facing a relatively inelas-
tic demand curve.

8. C At Q, firm's
MC = MR, therefore indi-
cates profit maximization.
At Q, firm's MR = 0, that
suggests revenue maxi-
mization. Total profit at
both these levels of out-
put can be identified by
AR - AC = average profit
multiplied by the quantity
sold =total profit.

82 A At profit maxi-

mizing level of output
the firm's
AC = AR, that indicates
normal profit. This rules
out B & D. Option C is
incorrect because a per-
tectly competitive firm
faces AR =MR.’
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83. A firm wishes to eliminate competition

and become a monopoly.
What should it do?

A maximise output
B maximise profit

C reduce prices
D

reduce the number of its
suppliers
[J16/P3/011]

84. In many developed cconomies,

clothes are designed by small firms
and retailed by large firms.

What is the most likely explanation for
this pattern?

87. The organisers of a major sporting
event produce official smwcmr‘prod-
ucts. Cheaper unofficial souvenirs are
also produced by street traders who
sell them to people walking to the
cvent,

Of what is this an example?

A a contestable market
B perfect competition
C price discrimination

D price leadership
INI6/P3/Q7]

clothes design firms

clothes retail firms

A | need to be flexible to cope with
B need to employ highly

C need to operate at a high

'frequent fashion changes
specialised and skilled workers
minimum efficient scale

need to overcome high barriers
to entry into the industry

need to exploit marketing

need to operate at a low
minimum efficient scale

need to offer a wide range of

need to take advantage of
technical economies of scale

economies of scale

products to survive

[J16/P3/Q12]

'85. What is likely to have its cause in the

86.

B
C
D

- separation of ownership and control

in a firm?
A contestable markets
diseconomies of scale
principal-agent problem
prisoner’s dilemma

[J16/P3/Q13]

What is one of the long-term benefits
to a firm of vertical integration?

A a concentration on activities in
which the firm has a comparative
advantage

B a reduction in the total costs in-
volved in agrecing contracts with
other firms

C an increase in the firm’s market
share

Improvements in efficiency result-
ing from increased use of market
incentives ‘

[N16/P3/Q6]

88. Which condition must apply before a

market can be regarded as perfectly
contestable?

A All firms in the industry are price-
takers.

B All firms in the industry produce

an identical product,

There are a large number of firms
in the industry.

There are zero costs of entry to,
and exit from, the industry,

[NI6/P3/Q11)

[ 1'
HELPg o

83 C Itwil Ohablg
firm to drive itg compg.
tors out of the Markel,

84, A Small fifmy i
flexibla In thelr producoy
while the large firmy ¢

beneflt from markeliny
economles,

85. C By dofinition,

86. B It Wil anable he
firm to eliminate proll
earned by other flm yih
which It had contracts,

87. A A conteslable
market Is charactorized by
costless entry and oxl.
This s Indicated by many
street traders entering I
market. Perfact compelr
tion Is ruled out bacause
the traders are sellng
souvenirs choapor (ht
the organizers.

88. D A contestable
market Is characterls®
by costless entry &
oxit, :
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[N/6/I’3/Q12j

ikely to be found when
comparing the long-run equilibrium
outcome in monopolistic competition
with that in perfect competition?

90. What is most |

A a greater degree of excess capacs
ity in monopolistic competition

B a higher level of profit in mo-
nopolistic competition

C a larger number of firms in mo-
nopolistic competition

D & more price-elastic demand curve
in monopolistic competition

[N16/P3/Q13]

91, Where is the long-run equilibrium
output of a perfectly competitive firm?

A where average costs are at a
minimum
B where average costs arc falling

C w!u.:rc marginal costs are at a
minimum

D where marginal costs are falling
[J17/13/06]

93. A firm estimates that, all else
mg pnchanged. an fmerease i 1S fmt-
rz.:f will result in an equal proportion=

2%e iper svenue.

ease in 1S T

What can be concluded from this?

A The demand curve for the firm’s
zontal.

product is hori
B The firm operates in a monopolis-

tically competitive market.

C The price elasticity of deman
the firm's product is —1.
D The supply of the firm’s product

is perfectly inelastic.
[J17/P307]

d for

93, The diagram shows a firm’s cost and

revenue curves.

ﬁk

Q

=}

c

g

e MC

o AC

MR AR
5 output

The firm changes its objective from
profit maximisation to sales revenue
maximisation.

Which groups are likely to be winners
and losers as a result of this change?

winners losers
A | customers |sharcholders
B managers | customers
C| workers managers
D |sharcholders [ workers
(J17/1P3/Q8)

g9. C MC =MR
indicates profit maximiz-
ing price and output. In
c:;se of A, B &D the
lirm's equilibrium output
and price should be differ-
ent than what is indicated

on the graph.

%0. A

AR = MR represonts
perfect compelition.

AR represents monopo-
listic compstition.

A perfectly competitive
firm produces at the low-
ast point on its AC curve
thus operaling at full ca-
pacity. A monopolistically
sompetitive firm produces
at the decreasing part of
its AC curve i.e. below
its capacity.

91. A
4 LRMC

\ , LRAC

P ARWMR

3

Q  output >

In the long run a perfectly
competitive firm only
earns normal profit l.e. it
producas at the lowest
point of its LRAC,
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94. What could be a reason for the exist-

ence of small firms in various indus-

tries? .

A 2 low minimum efficient scale of
production

B greater scope for specialisation
and division of labour

C the need to diversify in order to
reduce risk

D the principal-agent problem
[J17/P3/09]

95. A firm in monopolistic competition that

is producing at its profit maximising
output is making a loss in the short
run.
For it to continue in production, what
must be correct about its average rev-
enue (AR), marginal revenue (MR)
and average variable cost (AVC)?

A AR=MR; AVC> AR
B AR=MR; AVC <AR
C AR>MR;AVC > AR
D AR>MR; AVC <AR

[J17/P3/010]

96. The diagram shows the demand curve

for a firm’s product.

4

price

—
>

O - output

Which diagram shows the shape of

the firm’s total revenue (TR) curve?

A
\
revenue

output =

Topic 1.3 © Page 2

B
|
revenue
o output
C
I\
revenue
O output -
D
revenue
O output -

[J17/P3/011]

97. The diagram shows a firm in mo-
nopoly producing OQ units.

1 MC  ATC

o— =
: quantity
Which outcome can be observed in

the diagram?

A loss minimisation

B profit satisficing

C revenue maximisation
D

unit cost minimisation

[17/P3/012]

AVC

92. A Since the adg.
tional output can be

at the same price, the
fore, it will result in
same proportionatg i
Srease in revenue, Qs
B is incorrect beca
PED varies throughom
its demand curye that
brings proportionatew
Jifferent changes in rev
enue. Option Cis ingy.
rect because it will kegys
revenue unchanged, Op-
tion D is incorrect pe.
cause when PES =0 gi-
put cannot change.

93. A Profit
maximising output i
where MC = MR

Sales revenue maximizz-
tion is where MR =0,
thus output rises and
price falls that serves the
interest of managers
more than the sharehoid:
ers.

94, A After a fim
reaches MES its LRAG
stops falling any further.
So MES indicates the
lowest possible per unl
cost and increase in e
size of the firm beyofld
MES may result inam
ing per unit cost. Lo
MES of production il
therefore, restrict "8
firms to remain small

g5. D In monopoliste
competition firm's

AR > MR, and in
short run the firm_m';;
mizes loss by contin
production as long as
price indicated by
AR>AVC.

96. C A change i 0:;
out brings about ah eg 3
broportionate chang L
TR.

]
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98. Which feature of oligopoly is being  101. Increased advertising by a firm in an

HELPS v MCQ

assumed when the demand curve for
an individual firm is as shown?

\
price |D
D
0 quantity
A price discrimination

B price leadership by the dominant
- fim

interdependence between firms

0

D collusion between firms
[J17/P3/013]

99. Firms X and Y merge in a horizontal

integration.

What must be true about the industry
and the stage of production in which
X and Y operate?

industry | eon
7A different different
B | different same
C same different
D same same
[N17/P3/06]

100. Many public utilities can be

described as “natural’ monopolies.

Which statement best describes the
situation leading to a ‘natural’
monopoly?

A There are high fixed costs and
falling average costs over all out-
puts demanded.

B There are legal restrictions on
new entrants.

C A single firm controls the supply
of raw materials.

D The firm has a patent on an es-
sential process.
[N17/P3/09]

imperfectly competitive industry
leads to an increase in demand for
the industry's product but a fall in
the firm's profits.

What could help to explain this?

A Production is subject to
diseconomies of scale,

B Rival firms respond by increasing
their advertising outlays.

C The demand for the industry’s
product is price-inclastic.

D The increase in demand for the

firm's output is entirely at the ex-
pense of other firms.

[NI17/P3/010]

102. An industry consists of a dominant

firm, which acts as a price leader, and
a large number of small firms.

Which statement about the profit-
maximising output of the small firms
is correct?

A Average cost is equal to average
revenue.
B Average cost is minimised.
C  Marginal cost is equal to price.
D Marginal revenue is zero.
[N17/P3/011]

103. There are two firms in an industry.

Firm X faces a choice. It can either
act independently or work with its ri-
val. If it acts independently its profit
could be $900 a week but it could be
only $400 a week depending on what
its rival does. If it works with its rival
the joint profit of the two firms  to-
gether would be $1400, $700 each. It
has no knowledge of what the rival’s
policy will be.

Which concept describes this situa-
tion?

A contestable market

B kinked demand curve

C principal agent problem
D

prisoner’s dilemma
[N17/P3/Q12]

97, A Whon a firm In-
curs loss, MC = MR Im-
plios logs minimization,
Options B and D, thoro-
fora, ara incorroct, Option
C Is Incorracl bocauso
tho firm's oulput Is balow
its ravanua maximizing
(MR = 0) output,

98. C A kinked
demand curva implis
interdependonca .

99. D Horlzonlal inte-
gration Implies samo
stage of production in the
sama industry.

100. A Economies of
scale is the source of a
natural monopoly and
high fixed caost results in
higher economies of scale
leading to a natural mo-
nopoly.

101.B It will increase
the firm's cost but re-
sponse by the rival firms
will make it ineffective.
All other options are
likely to increase firm's
profits. |

102. C All ‘other firms
become price takers and
in that case they have
their P = AR = MR,
therefore MC = MR
implies P = MC.

103.D A typical
example of game theory.

104.C Because of this
the firm maintains its
price that produces a
kinked demand curve. In
other cases price may
change.
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104, What explains the kinked demand ~ 107.What is an example of backward HELPS(
curve model of price rigidity in vertical integration? °MCQ
oligopoly? A a bakery buying a wheat farm
A a':oclllusmn. between zfll firms i.n the B a car manufacturer buying a car 105.D Ona Kinkeg
industry in t'hc setting of prices showroom mand curv  {h, 'fie-
B the assum'ptmn that a single firm C a vineyard buying an apple faces elastic demanm
acts as price leader for all firms orchard Surve for a rise Pricg
in the industry . . because i it chosey
fio 10 " _ D two rival supermarkets joining raise its price the riv°
C l:)c mdwlnduaf! ﬁm’l § expectations together firms prefer not 1 folgy
a out.oher irms’ responses to [J18/P3/010]  SUlt and hence T
its price changes eamed by the firm g,
) D the presence of barriers to the 108. The diazram sl o firm i creases. On the conjray
entry of new firms into the ’ f ]‘c - i dl o '? mper=the firm faces inglag(g
industry Fct COI‘I]]‘)LlllIOH.. I't changec its aim dqmand curve 'Qfafallln
IN17/P3/Q13] from proﬁl maximising to sales rev-  price, because rival fimg
enue maximising, mfitCh any decreass iy
105. The diagram shows a firm’s cost and price and Ihis agan
reVenus ‘eurvés causes its TR to fall, Bg.
. GoRk ing dependent on riv
) revenue firms' reaction the fim
costs, prefers to maintain il
revenue AC price. Options A & B an
P incorrect because P »
MC indicates allocative
inefficlency, Option C s
ruled out because AC
curve is missing In the
AR 0raph and hence we can
0 not read economies o
o - output scale.
output Which type of profit was it making in ~ 106.C A 1o} I;:xf;
Which features are associated with cach casc? ?I"S‘S Paketsr“az:sexila"
. rms lo ente
the diagram? profi 1 industry-a key feaured
A economies of scale and allocative T ‘ s'm:'c.nuu sontestable markol.Otm:
efficiency naximising maximising options poln: oulcfet);:‘::l°y
: . { (- ol ne
B interdependence and allocative a x:)orm'll proﬁt‘ supernormal profit ',23;,‘,‘;3 ?0, a markel 0
| efficiency B | subnormal profit normal profit bacome contastable
C price rigidity and economies of C |supernormal profit|  normal profit 107, A Vol ilogt
scale D | supernormal profit | supernormal profit| yion takes place b::'Wpro‘
ice rigidity and inte ont stages ¢
D price rigidity and interdependence [I8/P3/Q11] diffor Bakery, bog!
[J18/P3/Q7] 7. duction. BaKOH 7y
manufacturer

109, An airline sells scats at $100 cach  whoat farm 8. raw i

i i i i ' i i rovidor 18 8"
make it more likely that an industry is gﬁf ;‘;Z'::‘()sn?;g; a f{:gh;i .atl $1 5?1 :\I;lplg bk wa[dlvﬂrﬂa
a contestable market? _ ore the flight an e

rke at $200 each the day before the flight. cal Integral o

106. Which feature of production would

| for¥
A advertising has established con- , , suggosts vor\i,lcao 1L
sumer loyalty l\jvzat desc;nbes this type of market Integ;lgggl'eso orlzuos“;
s : i ~ are
B all firms in the industry share re- sl tal Integratlo” (:lcnaﬂ !
search and development A limit pricing to deter entry in an  [irms are I ol I
C low fixed costs imperfect market the samo §
D market rivals aim to reduce B price discrimination by a s \
| A product differentiation monopoly supplier |

[J18/P3/Q9] | f
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price leadership by an oligopolist
pricing where price equals aver-
age cost under perfect competi-
tion

[J18/P3/Q12]

110, What would not be an indication of a
divergence between the interests of
the managers and the shareholders of
a company?

A

B

an emphasis on sales
maximisation

management salaries which are
linked to the long-run growth of
the company’s share price

the acceptance of ‘X’ ineffi-
ciency in the company’s produc-
tion process

the purchase of artwork for a
company’s headquarters

[J18/P3/013]

111, What must be found in two markets
for price discrimination to be
profitable?

A

B

C
D

different price elasticities of
demand

different price elasticities of
supply
different producers
different products
[N18/P3/Q7]

H2. A firm maximises its profits by
maximising its total revenue.

What does this imply?

A
B

C

Average fixed cost is zero.

Average revenue is equal to
average cost.

Marginal cost is zero,

Marginal revenue is greater than
marginal cost.

[N18/P3/08]

113. Technological change reduces the

minimum efficient scale of production
in an industry.

What is likely to result?

A

B

increased number of firms and
increased size of firms

increased number of firms and
reduced size of firms

reduced number of firms and
increased size of firms

reduced number of firms and
reduced size of firms

HELPS b MCQ

[N18/P3/Q9]

108. D MC =MR indicates profit maximizing output where
fim's  AC < AR, indicating supernormal profit. A firm
maximizes sales revenue at an output when its MR =0
where this firm is still earning supernormal profit because
its AC < AR.

109. B Identical product sold at different prices in differ-
ant time periods is an example of price discrimination. An
increase in price rules out option A and D while there is
no evidence in the statement suggesting option C. '

110. B Growth is the only objective that serves the inter-
ast of both the owners and the management. Revenue
maximization by management conflicts with owners’ ob-
jectives of profit maximization, thus option A is incorrect.
Options C & D would increase costs therefore they re-
duce profit for owners and they don't serve the interest of
management in any way.

111. A It allows the firm to increase TR by charging a
lower price in the market where PED > 1 and by charging
a higher price in the market where PED < 1. Thus in-
crease in firm's TR from both markets is likely to in-
crease firm's profits. All other options are irrelevant in the
context of price discrimination.

112.C A firm maximizes TR when its
MR =0 and it maximizes profit when its MC = MR, thus

both could only be achieved at the same level of output
when the firm's MC = 0.

113.B  After MES the firm's LRAG stops falling any fur-
ther, It therefore suggests optimum size of a firm in the
long run. With a reduction in MES the optimum size of all
the firms will now be on a lower level of output. It there-
fore reduces the size of individual firms and hence cre-
ates room for new firms,
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114. The diagram shows the costs and yh L1 ' H ELpPs oM
revenue for a firm in imperfect: ; : Cq
competition.

Which level of output would produce . ' 14,0

Norm
only a normal profit?

indicated by Agl 3\%" i
I\ 115.A Economies
scale allow some of
existing firmg 1, groe
Iargg and progycg alw
relatively lower per Un;
cost than the

' SMalley
firms who are then ¢om.

peted away by the large
firms. Other optiong Slg-
gest the valid reasgng for
survival of smal| firms,

AR

LT ' the dominant oligopolist
\ 0 quantity would reduce its price iy

- | ‘ the short run to a leyel

116. D It means that

where it may sunive
even by incurring shor
term loss but its weak
‘ alli : , : competitors would be
115. What would be a reason why small driven out from the indus-

firms do not survive? ! try. The oligopolist then

[N18/P3/Q10]

AT 0, : would raise its price toa
| A In certa.m industries, th_ere:are | level - WharaCit™eams
economies of scale. ‘ ; higher long run profits.
B . Small firms often supply personal

services to consumers. -

C Small firms often supply prod-

" ucts, the size of the ‘market for
which is limited.

D Small owner-managed firms in-
volve less risk.

[N18/P3/011]

116. What is the implication of a dominant
oligopoly following a limit pricing
policy?

A The industry will be restricted to
a target number of firms.

B The industry will contract as rival
_ oligopolists are eliminated.

C The oligopolist will achieve a
satisficing level of profit.

D- The oligopolist will sacrifice
short-term profit for long-term
profit,

[N18/P3/Q12]
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Q1

Q2

Q3

Q4

TOPIC 1.3

Different Market Structures
Growth and Survival of Firms
Differing Objectives of a Firm

ESSAY Section

LIST ©OF QUESTIONS

(N08/P4/Q2)

Economic analysis of resource allocation as-
sumes consumers' are rational. Where adver-
lising exists, this analysis is of litlle value. Do
you agree with this argument? [25]

(N08/P4/Q3)

(a) Explain how a knowledge of its long-run
average costs might be useful to a profit-
maximising firm. [10]

(b) Discuss whether firms always want, and
are able, to maximise profils as suggested
by economic theory. (15]

(Jo9/P4/Q2)

In many cities worldwide, newspapor publish-
ers compete with each olher. Some typos ol
newspapers are sold, but publishers also pro-
duce others that are distributed free of chargo.
Many people and companies pay lo advortiso
in the free newspapers.

(a) Explain the different ways that economisls
classify profits and consider whathor it is
possible to make a profit from a nowspa-
per that is distributed froo. [12)

(b) Discuss how a firm might compoto In a
markel. [13]

(J09/P4/Q4)

Airbus, a large aircraft manufacturing com-
pany, announced in 2007 that Its goanl was to
increase its $475 milllon rosearch budgol by
25 % in order 1o try to dovolop a moro onvi-
ronmentally friendly alrcralt that had lowor fual
consumption.

(a) Explain why Alrbus Is Ilkoly to bo In an
Imperfoct rathor than a porfoct markol
structure. (10]

Qs

Q6

Q7

(b) Economics textbooks sometimes criticise
firms in  imperfect competition as being
against the public interest. What does this
mean, and how far does the Airbus an-
nouncement prove the textbooks wrong?

(15]

(N09/P4/Q2)

In 2007 BHP Billiton, a large mining group,
made a bid to take over Rio Tinto, the world's
third largest mining group. Such a takeover
would create the largest producer of copper
and aluminiurmn in the world.

(b) BHP Billiton and Rio Tinto have monopoly
powers and are mining a natural resource.
Discuss why the governments of the coun-
tries in which these companies operate
might become concerned about this, [13)

(J10/P4/Q3)

In March 2009, the govoernment ol Franco
agroed to pay 250 million Euros to the car
manufacturor Ronault, which employed 63 000
workers, on condition that it would not reduco
tho number of Fronch jobs or factorios. Gone
oral Motors, a US car manufacturor which om-
ployod 600 000 workors, sald that it noedod
$2 million in governmont aid to avold bank-
rupley.

() Doseribo tho charactoristics and likaly pric-
Ing policy ol tha market structuro In which
o car manufacturor Is likoly to operato, 12]

(b) Discuss whathor oconomic thoory supports
tho Idea that govornments should oncour-
ngo all largo organisations. [19]

(N10/P4/Q3)

(b) Discuss whothor thore Is a rolatlonship bo-
twoon tho marginal cost curve of the firm
and tho supply curve of tho Industry o
which It bolongs. [19)
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Qs

Q9

(J11/P4/Q4)

(b) Explain the economic theory of profit
maximisation for a firm and consider
whether firms are likely to follow this
theory in fixing their price and output. [13]

(J12/P4/Q3)

(a) Explain why there may be different levels
of profit within perfect competition and be-
tween perfect competition and monopo[lyé]

]

(b) Discuss whether the average variable cost
has any significance in a perfectly com-
petitive market structure in determining (i
the output produced by a firm and (i) the
profit of a firm. [13]

Q10 (N12/P4/Q3)

Q11

Q12

Q13

Q14

(a) Explain what is meant by an oligopoly
market and why prices might fluctuate less
in ‘an oligopoly market than in a perfectly
competitive market. [12]

(b) Discuss whether a firm in monopolistic
competition is more likely to act in the pub-
lic interest than a firm that is a monopoly.

[13]

(N14/P4/Q2)

The purchases a consumer makes are based
upon marginal utility. It is this alone that deter-
mines market equilibrium in perfect competi-
tion.

Supply has no relevance.’

Is this true? [25]

(N14/P4/Q3)

Discuss the similarities and differences be-
tlween a firm’'s likely price and output policy in
perfect competition and oligopoly. [25]

(J15/P4/Q3)

(a) A firm in a perfectly competitive market and
a firm with a monopoly both seek to
maximise their profit. Explain, with the help
of a diagram, why the levels of price and
output might be different in the two mar-
kets. [12]

(b) Discuss whether it Is always true that a
firm, rather than maximising Its profits while
remaining small, will seek to grow In sjze.

(13]

(N15/P4/Q2)

Consumers decide what they wish to buy and
as a result direct the market. Producers de-
velop new products, which they then promote
by advertising, In order to maximise profits,

Without producers there would be no products
to buy,

Q15

. The traditional theory of the firrh assy

Q16

Q17

Q18

Q19

Q20

(b) Discuss whether the market ig domin
more by producers ar by consumg, ateq

8 [13]
(J16/P4/Q5)

Mes

single objective for the firm, Namely
8

maximisation of profit.

(a) Explain whether a firm with thig obj

. ) eCﬁVe
necessarily always makes a profit,

(12)
Ong|
al’ket
[13)

Discuss how the objective in the tragj;
theory may be varied in different m
structures,

(N16/P4/Q4)

Explain what is meant by the ‘equilibrium of a
perfectly competitive firm' and consider the
view that equilibrium is always achieved i
perfect competition but never in a manopaly
market. [25_]

(J17/P4/Q3)

(a) Explain the difference between price lead.
ership and price discrimination. (12)
(b) Discuss whether firms always want to
maximise profits and are able to do so ip

2 way suggested by economic theory.
[19)

(b)

(J17/P4/Q7)

The driving force of some governments is to
bring the benefits of competition to formery
monopolised markets.

(a) Explain the benefits that might occur in a
more competitive market compared with a
monopolised market. [12]

(N17/P4/Q4)

For some products there has been an increas:
ing dominance of large firms in the last five
years. For example, in the telecommunications
industry most countries now have four or five
operators, some have only two. In other mar
kets many small firms exist.

(a) Explain possible reasons why In somé
markets there are many small firms while
in others the market Is dominated by @ fe¥
large firms. (tel

(b) Discuss who might benefit and who migh;
lose when a market becomes domlnaifsl
by a few large firms. [

(J18/P4/Q3)

A businessman claimed It was difficult to mnkﬂ.
decislons as his business was subjact 10
certainty and interdependance. .
Discuss the methods used by oligopoly “:26
to reduce uncertainty and Interdepen 0 y
and the extent to which these methods oxlt%]
the consumer.

o
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Q21 (N16/P4/Q3)

(n) Analyso tho fnclors which dotermine tho
priee of a firm's produect and Ite outpul In
monopollstlo compotition, [12]

(b) Awssovs tho olloel on oulput and price Il a
monopoly flrm maximisos It salos rov-
onuo rathor than Its proflt, Consldor who
wlill bonolit tho moot from this chango. [18)
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Question 1

Economic analysis of resource allocation assumes con-
sumers arc rational. Where advertising exists, this
analysis is of little value. Do you agree with this argu-
ment? [25]

[NOS/P4/02]

Essay:

Economic analysis suggests that individual producers
and consumers, through a system known as the market
mechanism, would take the decisions as to the alloca-
tion of resources. Throughout the economy, millions of
consumers are making decisions of what to purchase.
For instance, by changing their preferences from good
A to good B they are sending the signal to the produc-
ers of these goods. As the demand for good B in-
creases and that of good A declines the prices of these
goods will change and other things being equal, the
profit obtained from the two products will change.
Profit is the key motivator for producers and therefore,
they will reallocate resources to those goods and ser-
vices which will yield the most profit.

The consumers have an important role to play in the
market for it has been their change in taste and prefer-
ences, which ultimately results in a change in what is
produced. Hence, according to economic theory, con-
sumers indicate their wishes, through changes in de-
mand, and community's productive resources are allo-
cated accordingly. So right amount of resources is allo-
cated to produce the right products.

As consumers if we had unlimited income, we could
consume as much as we wanted. We would not have
to be careful with our money. In the real world, how-
ever, given the problem of scarcity, we have to make
choices about what to buy. For instance, you may have
to choose between the new books you feel you ought
to buy and going to a rock concert, between a new pair
of jeans and a meal out, and so on, It is here that eco-
nomic theory assumes that consumers behave 'ratjo-
nally'. We define rational choices as the weighing-up

of the costs and benefits of our actions. As far as con-

sumption is concerned, rational action involves con-

s and benefits to us of the al-
nd our money on. We do this
mum satisfaction possible from

sidering the relative cost
ternatives we could spe

in order to gain the maxi
our limited incomes,

Topic 1.3 ¢ Pag
®4

ably make out a 'rational’ shopping list for them

On the other hand, the major aim of advertjg;
sell the product. This can be achieved not only bls'to
forming the consumer of the product's CXistency

availability, but also by deliberately trying to pers,

consumers to purchase the goods. CO"SUmerg n:d
information about product characteristics ang prices‘;d
make rational decisions. Advertising can be 3 0

Sclves

e . . IOW'COSt
means of providing that information.
The assertion in the question actually implieg tha
much advertising is designed to manipulate or Persuag,

consumers, that is, to alter their preferences in fay, of
the advertiser's product. For instance, a televisjop con.
mercial indicating that a popular personality drinks
particular brand of soft drink-and therefore that you
should too- conveys little or no information to consum.
ers about price or quality. Therefore, it encourages .
tional consumption and influences allocation of r.
sources. To counter this view economists argue thyt
consumers buy what they desire for or at least whyt
they are made to think they crave for through adver-
tisement. As long as they buy commodities which they
feel will satisfy their craving they act rationally.

In particular, with major items of expenditure such asa
house, a car, a carpet or a foreign holiday, we are likely
to take much more care. Take the case of a foreign holi-
day: you will probably spend quite a long time brows-
ing through brochures comparing the relative merits of
various holiday packages against their relative costs,

looking for a holiday that gives good value for money.
This is a rational behaviour.

But it may not turn out to be nearly as good as the
brochure led you to believe. This is a problem of igno-
rance. You probably nevertheless behaved rationally in
the first place, believing that you were getting value for
money. We, therefore, must not confuse irrationality
and ignorance. The assumption that consumers behave

rationally does not mean that they have perfect infor
mation.

Also, the term 'rational’ simply refers to behaviour that
is consistent with consumers' own particular goals, .l'e'
behaviour directed to getting the most out of their li™”
ited income, People may well disapprove of the 1h|_ng5
that others buy - their clothes, their records, their Clgaj
rettes, but that is making a judgement about their goals’
their taste and morality. Economic theory do€s ITO.
make judgement about what people’s goal should be
stead we use them to analyse the implication’ 3
people behaving rationally in pursuit of these goal* "
Thus, it can be concluded that advertisement do€s ?:n
mean a decrease in rationality and hence m;sallocﬂ"_n‘
of resources. In fact, advertisement through better !
formation make informed choices more likely.
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Question 2

@@ Explain how a knowledge of its long-run average
costs might be useful to a profit-maximising firm.

[10]

(b) Discuss whether firms always want, and are able,
to maximise profits as suggested by economic
theory. [15]
[N08/P4/03]

Essay:

(a) The long run is defined as a time period during
which full adjustment can be made to any change
in the economic environment i.e. in the long run all
factors of production are variable and as a result
the firm can alter its plant size. Consequently, there
may be many short run cost curves, indicating dif-
ferent plant sizes, but only one long run curve as a
firm develops over the years.

Long run average cost curve (LRAC) shows the
lowest cost of producing any output when all fac-
tors are variable. The LRAC curve sometimes is
called an envelop because it encloses a series of
short run average cost curves by being tangent to
them as shown in the graph below.

T SRAC,  srac,

SRAC, SRAC,

SRAC,

After a point when such cconomies have been
achieved, LRAC curve will flatten out. Further ex-
pansion results in firm being so large that it will
start experiencing diseconomies of scale and hence
faces a rising LRAC. At this stage, production and
financial economics will begin to be offset by the
managerial problems of running a giant organiza-
tion. The effect of this is to give a saucer shaped
curve as shown in the figure above.

In the graph above the firm's long run per unit cost
of production is at a minimum when output is OQ.
This is known as the optimum size of the firm i.e.
the most efficient size.

To clarify this suppose there are many choices of
plant sizes, each of which has a short run average
cost curve. Also, the firm wants to produce output
Q,. If it builds a small plant, the SRAC, is relevant,
so that the average cost of production is Od as op-
posed to Oa on the medium sized plant (indicated
by SRAC,). Hence, a small plant is a better choice
than a medium sized plant. Now consider the case
when firm wants to produce Q, ouput. The medium
sized plant (indicated by SRAC,) is more cost ef-
fective than a relatively smaller plant (indicated by

SRAC,).

Thus, the knowledge of LRAC

might be useful to a profit-maxi-

mizing firm in terms of choosing
ERAC the most efficient plant size. In
addition, LRAC indicates the
minimum efficient scale (MES),
which is the lowest level of out-
put at which a firm can minimize
LRAC and by reaching MES the
firm can become more efficient
than other small firms. Most im-
portantly, the firm knows the op-

[

o
©
I
D= e _

Each short-run curve shows how costs vary if out-
put changes, with the fixed factor held constant.

The LRAC curve is made up of all the points of
tangency of the given number of SRAC curves
from which the LRAC curve is derived.

'It .is often assumed that as a firm expands, it will
initially experience varjous types of economies of
scale and thus faces a downward sloping LRAC
curve. For instance, the firm can introduce more di-
vision of labour and specialization as it increases
its Size. A large firm buys raw material in bulk it may
obtain jt on preferential terms. In addition, larger
firms may be ap[e to obtain finance on favourable
terms, thus reducing the cost of cach unit.

‘:

(b)

output per period timum size and can retain its scale

to avoid diseconomies of scale.

Thus it can be stated that knowledge of LRAC
helps firm to decide about the scale at which it
must operate in order to maximize profit.

The traditional theory of the firm tends to make a
standard assumption that businesses possess the
information, market power and motivation to set a
price and output that maximises profits in the short
or long run. This assumption is now criticised by
economists who have studied the organisation and
objectives of modern-day corporations and in par-
ticular, the existence of a 'divorce of ownership and
control' that is common to most large-scale corpo-
rations.

4
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There are numerous possible explanations of a firm
departing from profit maximisation. Some relate to
the lack of accurate and detailed information re-
quired to undertake optimal behaviour. Others con-
centrate on the alternative objectives of modern
businesses.

Behavioural economists believe that modem corpo-
rations are complex organizations made up of vari-
ous groups or stakeholders. Stakeholders are de-
fined as any identifiable groups who have a vested
interest in the activity of a business. Examples of

relevant stakeholders might include:

« Employees within a business.

»  Managers employed by the firm.

e Shareholders - people who have an equity
stake in a business.

«  Customers in the market.

The local community.

e The government and its agencies
including local government.

Each of these groups is likely to have different ob-
jectives or goals at different points in time. The
dominant group at any moment in time can give
greater emphasis to their own objectives - for ex-
ample price and output decisions may be taken at
local level by managers - with shareholders taking
only a distant and imperfectly informed view of the
company's performance and strategy.
The reality is that there are numerous different
strategies that can be employed. Although a busi-
ness might have profitability as an important me-
dium-term aim, it might depart from this in the short
term.
Following are some alternatives to pure profit
maximisation strategies:
Satisficing behaviour involves the owners setting
minimum acceptable levels of achievement in terms
of business revenue and profit.

Sales Revenue Maximisation:

The explanation focused on the behaviour of man-
ager-controlled businesses - price and output de-
cisions taken by managers are divorced from the
shareholders (the owners of the business). Econo-
mists argued that annual salaries and other perks
might be more closely correlated with total sales
revenue rather than profits. Companies geared to-
wards maximising revenue are likely to make fre-
quent and extensive use of price discrimination as

a means of extracting extra revenue from consum-
ers.

e
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Constrained Sales Revenue Maximisagjq,,
Shareholders of a business may i"‘TOduc.
straint on the decisions of managers . ke a
constrained sales revenue maximisatjop ngwn 2
ample they may introduce a minimum pr'ofor &
straint designed to underpin the valuatjop, it cop,
shares and maintain a dividend. Note thy OF the;,
a minimum level of profit is different fronia ing
maximisation. Profiy

Survival:

Aiming for profits, sales, salaries, power, e . .
be useless if the firm does not survive! Tr;i;l\ﬂll
maximise any of the various objectives magt
risky. For example, if a firm tries to maximiS); be
market share by aggressive advertising or i ity
cuing, it might invoke a strong response fromcl-z
rivals. The resulting war may drive it out of bus;
ness. Concern with survival, therefore, may mak;
firms cautious.

The part of question whether firms are always ap|,
to maximize profit is also subject to debate. Forip.
stance, one criticism of traditional theory som.
times put forward is that firms do not use MR an{
MC concepts. This may be true, but firms could
still arrive at maximum profit by trial and emor
adjustments of price, or by finding the output
where TR and TC are furthest apart. Provided they
end up maximising profits, they will be equating
MC and MR, even if they do not know it! In this
case, traditional models will still be useful in pre-
dicting price and output.

The main difficulty in trying to maximise profitsis
a lack of information. Firms may well use accou
tants' cost concepts not based on opportunity
cost. If it were thereby impossible to measure true
profit, a firm would not be able to maximise prof
except by chance. More importantly, firms ar® u
likely to know precisely their demand curves "
hence their MR curves. Even though they W
know how much they are selling at the momerh
this only gives them one point on their demafs
curve and no point at all on their MR curve. n‘pr]
der to make even an informed guess of marg"”
revenue they must have some idea of no} how
sive demand will be to a change in price. * ‘?‘
are they to estimate this price elasticity?
even thi lSakcs

Market research may help. But
quently very unreliable. Such iNform?tlon arke
time to acquire and action, by which tlm‘e(ina the
conditions may have changed, thus Mm@ er:folf

information out of date. The firm WIT 5 efi®
ibly smell

have to decide whether the poss!
h its cost:

from market research are wort




out of bus,
g May Make

always able
bate, Forj,
1€0ry son.
use MR g
firms coul
al and emx
y the outpu
rovided they
be equating
yw it! In th
iseful inpre

nise profis’

| use aCCOl{n-
unit
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The biggest problem in estimating the firm's de-
inand cufve is in estimating the actions and reac-
tions of other firms and their effects. Finally, there
is the problem of deciding the time period over
witich the firm sliould be seeking to maximise prof-
its, Firms operate in a changing environment. De-
mand curves shift; supply curves shift. Some of
these shifts occur as a result of factors otitside the
frri's control, such as changes in coinpetitors'
prices and products, or changes in technology.
Soiiie, however, change as a direct result of a firm's

olicies, such as an advertising campaign, the de-
velopment of a new improved product, or the in-
stallation of new equipment. The firm is not, there-
fore; faced with static cost and revenue curves
from which it can read off its profit-maximising

rice aitd output. Instead it is faced with a chang-
ing and often highly unpredictable set of curves.
In conclusion, firms may peruse other objectives
thail profit ma_:(imization and even if they do opt for
profit niaximization they may not have the com-

plete information to work it out exactly the way as

suggested by economic theory.

Question 3

[n many cities worldwide, newspaper publishers com-
pete with each other. Some types of newspapers are
sold, but publishers also produce others that are dis-
tribuited free of charge. Many people and companies
pay to advertise in the free newspapers.

(8) Explain the different ways that economists classify
profits and consider whether it is possible to make
a profit from a newspaper that is distributed free.

[12]
(®) Discuss how a firm might compete in a market. [13]
[J09/P4/Q2]

Essay

@ Profit is the difference between the revenue and

:gls:lsmqf a firm. It measures the return to risk when

i Enlt ting scarce resources to a market or indus-

an'ade repreneurs take risks for which they require
qQuate expected rate of return.

T‘;““n:::l‘l/ienue is defined as total earnings of a firm
fied peri:dg- %}rceriam level of output within a speci-
difference | R= PxQ. As for the costs there is a

fice in the view point of accountants and

economists. An accountant's view of a firm's costs
is that they are incurred when the firm makes a
recognised expenditure. They are production ex-
penses paid out at a particular price and time. Thus
accountants define profit as the revenue earned by
a firm from which fixed and variable operating costs
are deducted Economists disagree with this and
argue that accountants' view of cost does not fully
recognise the private cost of economic activity.
The economist's view of costs includes money
paid out to factors as well as an allowance for any-
thing owned by the entrepreneur and used in the
production process. This factor cost must be im-
puted or estimated and included with the other

costs.

For economists, the concept of opportunity cost is
relevant. Opportunity cost involves the sacrifice of
the closest alternative and is the value of what has
been given up. For instance, entreprencur may
have capital that could have been used at no risk
elsewhere and would have earned an income or
else the entrepreneur himself could have earned
income working for someone else. Thus there will
be a minimum level of profit that entrepreneur will
expect, reflecting what his capital and labour would
have earned elsewhere. This is the concept of
normal profit. Because we treat normal profit as an
opportunity cost of a business, we include an
estimate for normal profit in the total cost. Thus
profit, to an economist, is:

TR(unit price multiplied by number of units sold)
minus TC (including normal profit).

Hence, if the firm covers its TC (where TR meets
TC or else ATC = AR) then it is making normal prof-
its.

Finally we can define normal profit as the minimum
level of profit required to keep the factors of pro-
duction in their current use.

Any profit less than normal profit (where price <
average total cost) is called sub-normal profit and
any profit achieved in excess of normal profit
(where price > average total cost) is known as ab-
normal profit or supernormal profit. Different profit
level are shown in the graphs below show.

. M o/
Price 7 C AC Pnccr MC AC
P, a
o MR=AR= |
B Demand 2 \/MR=AR=
Demand
@ % Output ° %@ Outpl;
® ®



A Level Economics (Essays)

B
‘f%&i

Topic 1.3 © Page :

®)

In the graph above in situation (a) a perfectly com-
petitive firm produces an output q, where
MC=MR. As explained above the cost curves in-
corporate an element of profit called normal profit.
The TR is OP,Aq, and TC is OCBg,, hence the firm
is making supemormal profit of P,ABC represented
by the shaded area. When firms are making abnor-
mal profits, there is an incentive for other produc-
ers to enter the market to try to acquire some of
this profit.. However, abnormal profit is only be a
feature of perfect competition in the short run
whereas abnormal profit persists in the long run in
monopoly and imperfectly competitive markets
such as oligopoly where firms can successfully
block the entry of new firms.
In situation (b) the firm is profit maximizing, produc-
ing an output g, and covering its total cost. The
firm is breaking even, making normal profit.

Newspapers usually generate greater part of their
revenue from advertisements they publish. How-
ever some part of revenue comes from the price that
they charge from the buyers. For free news papers
it follows that they are distributed freely to the
readers but the 'free’ newspaper is only free to the
consumer. It is not free to the advertiser. The "free"
newspaper could make a profit provided that rev-
enues from selling advertising space at least cov-
ered costs of production and distribution. But the
ability to charge for advertisement depends on its
circulation and readership. The greater the circula-
tion of the "free" newspaper, the more the newspa-
per could charge for advertisements and the higher

the profit it earns.

Firms in different industries can compete on price

or non-price factors. Price competition involves

. offering a lower price in order to boost sales. Non-

price competition entails product differentiation,
and advertisement. Product differentiation is a
strategy in which one firm's product is distin-
guished from competing products by means of its
design, packaging, related services, quality, loca-
tion or other attributes. Advertising involves a
seller communicating message about his product to
potential buyers.

For a firm the scope of competition on price or non
price factors is governed by the structure of the in-
dustry. In economic theory, a range of models has
been developed in order to explain different ways
?f competition. We start our analysis by consider-
ing a perfectly competitive market where each firm
is assumed to be price taker and is unable to influ-
ence the market price. Product homogeneity and
complete freedom of entry and exit arc the essen-

tial features of perfectly competitive market. Fagi
the market price each individual firm cap Chom
any quantity it likes and can sell at the ruling p:;se
without affecting the sales of rival firms, Hence
there is no scope of price competition for individuce
firms. Similarly there is no scope of non price m{:
petition, since all firms produce homogeney,
product. The firms' behaviour is strictly limiteq in;
perfectly competitive market and the only way t
compete would be to increase productivity apg
lower average total cost.

In imperfect markets such as monopolistic compe.
tition and oligopoly firms have some influence g
the market price and are therefore price makers, |y
monopolistic competition each firm is competing
with a large number of similar producers. In thjs
situation the demand curve facing the individual
firm will be downward sloping but relatively price
elastic because of the presence of substitutes. At
the heart of this model of competition is the fact
that there are a large number of competitors using
a combination of price and non-price competition
to try and increase their market power. It might be
an option for firms to reduce their price in orderto
increase total revenue. But the prediction is that
the firms will only be able to earn normal profitin
the long run due to the free entry of rivals.

The clue to the behaviour of firms in this market
structure lies in the concept of product differentia-
tion. This highlights the important role that adver-
tisement and promotions play in this market struc-
ture. Successful advertising will not only shift the
firm's demand curve to the right at the expense of
the rivals but will also reduce the price elasticity if
the consumers feel there are no close substitutes.
n where the

Oligopoly is defined as a market situatio
s of a few

total output is concentrated in the hand
firms. An effective oligopoly can exist if a hand
of firms dominate the market. Although they each
have market power in the form of influence over th°
price they charge, the uncertainty surrounding the
outcome of competitive tactics means that firm®
may prefer non-price competition. The ;
choosing competitive strategies and of predicti®
the response of rivals may change t
of firms. There are situations where big
that it is in their interest to co-operate With ™%
They can form collusion which is an anti comP” "
tive action by producers. Informal or tacit ¢:ollu510re
usually takes the form of price jeadership, ¥ h
firms automatically follow the lead of one
group. o its
An oligopolist would only start a price wel |n its
cost of production were significantly lower th?

firms fiP
th rivalf'

M
. . |
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rivals. Where the firm is highly diversified, a firm
may be prepared to sacrifice profits by cutting the
price, in an attempt to increase market share.
Finally a monopoly is where a single firm controls
the entire output of the industry. A monopoly is
protected from competition by the entry barriers.
So there is no actual competition and no scope of
competitive behaviour. But the monopolist might
involve in non-price competition as a means of
deterring potential competitors. The monopolist's
profits could be increased in certain circumstances
by a practice known as price discrimination. Price
discrimination occurs where the monopolist
chooses to split the output up and sell it at differ-
ent prices to different consumers.The monopolist's
aim is to charge what the consumers will pay and
turn the consumer surplus into producer surplus
in the form of abnormal profit.

Hence the competitive behaviour of firms is sub-
ject to the prevailing market conditions.

Question 4

Airbus, a large aircraft manufacturing company, an-
nounced in 2007 that its goal was to increase its $475
million research budget by 25 % in order to try to de-
velop a more environmentally friendly aircraft that had

lower fuel consumption.

(@ Explain why Airbus is likely to be in an imperfect
rather than a perfect market structure. [10]

() Economics textbooks sometimes criticise firms in
imperfect competition as being against the public
interest. What does this mean, and how far does
the Airbus announcement prove the textbooks
wrong? - ' [15]

[J09/P4/04]

Essay

@ ’A perfectly competitive market is characterized by
arge n_umbcr of firms, complete freedom of entry
and exit, product homogeneity and perfect knowl-
edge of the good and its market by both producers
:::geconsumers. No individual firm has any influ-
bet, on 'the market price. firms are described as
by hgepfrlce takers. The ruling price is determined
ing the ‘:;Ccsk of mz.arkct demand and supply. Fac-
choose 1. arket price faach individual firm can
e ‘i.?l:lantlty it ll.kes and can sell at the rul-
In the sp. rtl out affec'tmg the sales of rival firms.
Wiy run there is no time for new firms to

€ market and thys supernormal profits can

¥,

(b)

persist. In the long run, however, any supernormal
profits will be compcted away by the entry of new

finms. :
In imperfect markets such as monopolistic compe-

tition and oligopoly firms have some influence on

the market price and are therefore price makers. In

monopolistic competition each firm is competing
with a large number of similar producers. In this

situation the demand curve facing the individual

firm will be downward sloping but relatively price
elastic because of the presence of substitutes. At
the heart of this model of competition is the fact
that there are a large number of competitors using
a combination of price and non-price competition
to try and increase their market power. Oligopoly is
defined as a market situation where the total out-
put is concentrated in the hands of a few firms.
The product may or may not be differentiated.
What matters is that some or all the firms earn sub-
stantial profits over the long run because barriers
to entry make it difficult or impossible for new firms
to enter the market.

Unlike perfectly competitive market where a large
number of firms sell homogeneous product air craft
manufacturing industry comprises of only a hand-

" ful of large firms and each one of them is produc-

ing highly differentiated aircrafts with distinct fea-
tures. Technological breakthroughs, as a result of
extensive research, have enabled these few manu-
facturers to gain from economies of scale and to

.grow large enough to influence the market. Hence

each one of them is expected to enjoy substantial
market share to exert influence over the price they
charge, a central feature of imperfect market. More-
over high capital cost and huge research and de-
velopment expenditure prevent other firms from
entering the industry. Thus the firms are likely to
earn substantial profit over the long run which is
contrary to the possibility of only normal profit in
a perfectly competitive market. /
Hence, it can be concluded that airbus is operating
in an imperfectly competitive market.

Public interest is said to be best served when mar-
kets operate under perfect competition. This is be-

- cause the consumer gains from: low prices, as not
only are costs kept low, but also there are no long

run supernormal profits to add to cost. Because of
this perfect competition is said to lead to consumer
sovereignty. Consumers, through the market, deter-
mine what and how much is to be produced. Firms

“have no power to manipulate the market. They can-

not control price. The only thing they can do to
increase profit is to become more efficient, and that

benefits the consumer too.
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It is often arguad that imperfectly competitive mar-
Kets lead to the loss of consumer sovereignty and
thus results in a less efficient allocation of re-
sources than perfect competition. Figure below
compares the long-run equilibrium positions for
two firms.

P. . D £

t U

1 b

' \

t 1 . e

! ' D, undcr monopolistic

- ! compctition o
o Q. Q Q

D, under perfect competition

One firm is under perfect competition and thus
faces a horizontal demand curve. It will produce an
output of Q, at a price of P;. The other is under
imperfect competition and thus faces a downward-
sloping demand curve. It will produce the lower
output of Q, at the higher price of P,. A crucial
assumption here is that a firm would have the same
long-run average cost (LRAC) curve in both cases.
Given this assumption, imperfect competition has
the following disadvantages:

« Less will be sold and at a higher price.

« Firms will not be producing at the least-cost

point.

By producing more, firms would move to a lower
point on their LRAC curve. Thus firms under im-
perfect competition are said to have excess capac-
ity. In Figure above this excess capacity is shown
as Q, — Q, In the long run firm under imperfect
market will produce at an output below its mini-
mum-cost point and charge a price higher than its
MC. In other words, in imperfect competition nei-
ther productive nor allocative efficiency occurs in
the long run equilibrium.
The firms in imperfect market are also said to be
involved in wasteful competition that uses scarce
resources which could be put to alternative uses
in producing more goods. Expenditure on practices
such as promotion and advertisement tend to raise
the price paid by the consumers. Also if firms in
imperfect market act collusively and jointly maxi-
mize profits, they will in effect be acting together
as a monopoly. In such cases the disadvantages
to society experienced under monopoly will also be
experienced under imperfect market.

On the other hand it is often argued that firm will
not be operating at the bottom of its LRAC curve,
but the nature of the industry may allow some

Tople 1.3 © Page
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economies of scale to be gained, The LRAC
would thus be lower than in the case of g, lc“
number of smaller firms that would be necey N
the industry were to be perfectly c“'“"cliti;,:m‘
size of the cconomies of scale, if any, wipr :‘:h‘o
ously vary from industry to industry, Fllrthc.r“v"
the consumer may benefit from monopolisticTo ¢,
petition by having a greater variety ofpmduclo A
choose from. Each firm may satisfy some part] !
requirement of particular consumers,

The question is if imperfect competition brings y
disadvantage of excess capacity but the advanty ¢
of diversity, is the consumer necessarily worse oﬁ.c,
The answer depends on the will and choice ofllu;
socicty at large.

Innovation is the central feature of imperfyg
markets. Aware that new products and processes
by rival firms can threaten their survival, eXisting
firms must have a powerful incentive to engage
continuously in R&D. Innovative new products
often cnable these firms to maintain or increase
their profit. Thus innovation can strengthen their
existing market power. The underlying objective of
air bus of increasing its research budget up to ap-
proximately $600 millions in order develop environ-
mentally friendly aircraft that had lower fuel con-
sumption is to maximize profit. They must havea
large economic profit from which they can fund the
expensive research and development. Moreover
the existence of barriers might have given them
some assurance that it will reap the reward of suc-
cessful R&D. Thus short run inefficiencies might
be partly or wholly offset by air bus contribution
to better products, lower prices and lower cost over
time.

The best outcome of their action is that they will
be able to create a socially friendly image while
achieving their goal of profit maximization. Thus
action by airbus does not prove the text bOO.k
wrong because the assumptions of profit maximi-
zation and abnormal profit in such a market struc-
ture hold true.

Vo

Culy,
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Question 5

In 2007 BHP Billiton, a large mining group, made a bid
to take over Rio Tinto, the world’s third largest mining
group. Such a takeover wou‘ld create the largest pro-
ducer of copper and aluminium in the world.

@) BHP Billiton and Rio Tinto have monopoly powers
and are mining a natural resource. Discuss why the
governments of the countries in which these com-

anies operate might become concerned about

p
this. : [13]
[NOY/P4/Q2(b)]

Essay

() In theory, a monopoly is where a single firm con-
trols the entire output of the industry. In practice a
monopoly situation can arise when a firm has a
dominant position in the market in terms of its mar-
ket share. BHP Billiton and Rio Tinto have mo-
nopoly powers in mining natural resources which
might be a cause of concern for many governments
of the countries in which they operate.

The classic case against monopoly is that its con-
duct and performance is undesirable when com-
pared with that of firms in a competitive industry.
This can be anlaysed with the help of the graph

below:
a
MC
Cost & (Industry S curve)
revenue : /
K ATC

MPd|----

PCPb <D =AR=MR=

(<N ; D=AR
0 MQ PCQ Output

#+:--: Monopoly price and 2 Deadweight
Heeseaa * output equilibrium. %/% loss

F.igure above compares the profit-maximising posi-
tion for an industry under monopoly with that un-
der perfect competition. The monopolist will pro-
duce MQat a price of MPd. This is where

MC = MR. If the same industry were under perfect
COr_np.etition, it would produce at PCQ and PCPb.
Thl_s_ls where industry supply under perfect com-
petition equals industry demand. Thus monopoly
produces a lower output and charges a higher

price. In doing so the monopolist captures con-
sumer surplus and turns it into abnormal profit.
This analysis is based on the assumption that the
industry has the same AC and MC curves whether
under perfect competition or run as a monopoly. A
more detailed analysis of the graph shows that in
perfect competition, output is where P = MC that
could be argued to be allocatively efficient. Clearly,
the monopolist is producing below this level (at
only MQ where P > MC), the monopolist can be
argued to be producing at less than optimal output
and resulting in a welfare loss shown by the tri-
angle x. Hence consumers would be prepared to

~ pay more for additional units than they cost to pro-

duce.

Moreover under monopoly barriers to entry allow
profits to remain supernormal even in the long run.
The monopolist is not forced to operate at the bot-
tom of the AC curve. The monopolist, however,
sheltered by barriers to entry, can still make large
profits even if it is not using the most efficient
technique.

These abnormal profits of monopolists may be
considered as unfair by many but the scale of this
problem obviously depends on the size of the mo-
nopoly and the degree of its power. The monopoly
profits of the village store may seem of little con-
sequence when compared to the profits of a giant
national or international company.

Apart from simple monopoly drawbacks multina-
tional monopolies such as BHP Billiton tend to use

‘their economic power to influence government

policies in directions unfavorable to the host pa-
tions. They are able to extract sizable economic and
political concessions from the governments of host
countries in the form of excessive protection, tax,
rebates, investment allowances, and the cheap pro-
vision of factory sites and essential social services.
As a result, the private profits of these giant muliti-
national monopolies exceed social benefits.

These firms are also blamed to damage host econo-
mies by suppressing domestic entrepreneur and
using their superior knowledge, worldwide con-
tacts, advertising skills, and a range of essential
support services to drive out local competitors and
inhibit the emergence of small-scale local enter-
prises.

The rate of extraction of minerals might be another
major source of concern for the host governments.
In many parts of the world multinational companies
are extracting finite resources at such a rapid rate
that it questions the long term sustainability of
economic prosperity of the host nations.
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such a large scale,

Thus monopolies, operating at
ts of the

is a matter of concern for the governmen
host countries.

Question 6
In March 2009, the govenment of France agreed to
pay 250 million Euros to the car manufacturer Renaulf,
which employed 63 000 workers, on condition that it
would not reduce the number of French jobs or facto-
ries. General Motors, a US car manufacturer which em-
ployed 600 000 workers, said that it needed $2 million
in government aid to avoid bankruptcy.
(@) Describe the characteristics and likely pricing
policy of the market structure in which a car manu-
facturer is likely to operate. [12]

() Discuss whether economic theory supports the
idea that governments should encourage all large

[13]
[J10/P4/Q3]

organisations.

Essay

(a) Car manufacturers are likely to operate in an
oligopolistic market structure. Oligopoly refers to a
situation where there are a few firms in the market
producing a large number of brands. Each firm is
of a sufficiently large size that the decision taken
by one firm will affect the decisions taken by the
other firms in the market. The firms are, therefore,
mutually dependent. It is an industry where there
is a high level of market concentration. The con-
centration ratio measures the extent to which a mar-
ket or industry is dominated by a few leading firms.
This implies that the number of firms is small
enough for each firm to realize that its competitors
may respond to anything that it does and that it
should take such possible responses into account.
Therefore, there is no single theory of how firms
determine price and output under conditions of oli-
gopoly.

In ad('iition to this an oligopoly exhibits product
bran‘dmg, entry barriers, interdependent decision-
making and non-price competition. All of these fea-

tures can be applied to the car industry.
la"b::;’c'%';E r::] :rl;:?vg stratcgics,'oligopolists face
ing. Thus there is o :clL 'c:iompctm'g and coop'e'rat-
If a price war break?:)z: :)l?y o Pl:lce cqmpctltlon,
» oligopolists will produce
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and price much as a perfectly competitive indyg;
But price wars prove to be costly therefore ¢, &y ary.
short lived. Due to the threat of price wars gng u:e
existence of effective alternative strategie g
oligopolists may engage in qon-priCe compelitims,’
This can take a number of different forms Such o
roduct differentiation, where oli-gopolists ca:]s
through advertising, create a brand image for thei;
he firm may offer a particular after-saje

product. T .
kage the product in, a particular way

service or pac
However, there is much to be gained from cooper,.
tion in the form of collusion. Collusion is anagree.
ment on price charged and level of output pr,.
duced. Thus it makes it possible for oligopolists t,
act as a monopoly and to achieve maximum profits

for the industry.

Collusion can take different forms. It can be a for-
mal or overt collusion, with agreement being
reached between the firms as to what price to
charge or what output to pro-duce. This type of
formal agreement is known as a cartel and is illegal
in many countries. The other type is called tacit
collusion. This is where firms behave in a coopera-
tive way but do not have a formal agreement. The
most common form of tacit collusion is price lead-
ership where price set by one firm becomes the
benchmark for other firms.

Often the price leader in an oligopolistic market is
the dominant firm. In this situation the largest or
the most effi-cient firm takes the lead in setting the
price which the other firms follow, possibly be-
cause they fear that not doing so would lead to 2
price war.

The other form of price leadership is called baro-
metric price leadership. The price leader may be 3
small firm but one which has a close knowledge©
the market and the prevailing economic conditions:
In this situation the barometric firm may institut¢?
price change which the other firms in the
oligopolistic market follow.

Pricing strategy in a non-collusive oligopoly is 6K
plained by the kinked demand curve. The kink
demand curve assumes that a business might face
a dual demand curve for its product based on
likely reactions of other firms in the market 10 °
change in its price. The common assumption © i
theory is that firms in an oligopoly are looking ¥
protect and maintain their market share 0% =
rival firms are unlikely to match another’s Pf ice It
crease but may match a price fall. The grap !
illustrates this situation.

A
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Assume we start out at P1 and QI
Will a firm benefit from raising

Will it benefit from cutting price

Reducing price below P1

aising price above P1

w 4 F)c'mangd is relatively elastic b.ecmfse

Y| otherfirms do not match a price rise

6| rirm loses market share and some

E total revenuc
price above P1?
below P1?

Pif——

|
It MR

demand is relatively inelastic
Little gain in market share - other
firms have followed suit in cutting
prices total revenuc may still fall

AR

Ql

Output (Q>)

economies. Thus large firms will be
better placed in terms of cost struc-
ture than the small firms.

Large firms are also viewed as im-
proving welfare by avoiding
unneces-sary duplication of re-
sources. For instance, a large gas
company would eliminate the necd
for several sets of rival gas pipes
under each street thus resulting in
efficient allocation of resources.
Particularly if this results in an MC
curve substantially below that of
the same industry with relatively
small firms, then the large firm will
produce a higher output at a lower
price as illustrated by the graph

If a business raises price and others leave their
prices constant, then we can expect quite a large
substitution effect away from this firm making de-
mand relatively price elastic. The business would
then lose market share and expect to see a fall in
its total revenue.

If a business reduces price but other firms follow
suit, the relative price change is much smaller and
demand would be inelastic in respect of the price
change. Cutting prices when demand is inelastic
also leads to a fall in total revenue with little or no
effect on market share. The kinked demand curve
model therefore makes a prediction that a business
might reach a stable profit-maximising equilibrium
at price P, and output Q, and have little incentive
to alter prices.

A car industry can be characterized as oligopoly
because there is low concentration of firms with a
high degree of interdependence. Also firms have to
decide about particular pricing and output decision
after taking account of possible reactions of rival
firms. There is scope of competition on price and
even more on factors such as branding, quality
variation, after sale services and advertisement.

® Economic theory supports the idea of govern-
:i‘;ms support on various grounds such as effi-
opm‘Z;tet;?nomles of scale and research and devel-
substani ;’Sﬂ)’ large firms may be able to achieve
cenua“s:d@::m.m}les of scale due to larger plant,

cit growis mxmstratlor.l and specialists’ staff.

leads tg 5 redam'i expansion (?f output over time
Saving bop fuctlon in the unit costs. These cost
T elits are referred to as economies of
pTOPOnioenimorc:-r because the firm’s output rises
come in ayv aster than the inputs. These ben-
ing, f; ariety of ways known as technical,
hancial, managerial and risk bearing

below.

0 Q. Q Q Q

In figure above the large firm produces Q, at a price
of p,. Compare this with price p, and output Q,
when market is shared by relatively smaller firms
operating in a perfectly competitive market. Price
will be even higher and out put lower than what
the larger firm produces. This is possible only when
the large firm’s MC curve is below point x.

Moreover, the large firm can use part of its super-
normal profits for research and development and
investment. It thus has a greater ability to become
dynamically efficient than has the small firm with
limited funds. Also, in a perfectly contestable mar-
ket even the largest firm earns only normal profits
and operates most efficiently.

Finally, macroeconomic theory also supports the
idea of encouraging firms to grow in order to sup-
port particular regions and more importantly to
stimulate growth.

However, if large firms are dominant then they usu-
ally adopt monopolistic behaviour. In practice a
monopoly situation can arise when a firm has a
dominant position in terms of its market share. This
might be a cause of concern for government.
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scale come in a variety of different way,

The classic case against the large firms is that their

conduct and performance is undesirable when stance, as o [irm grows in size it will poggjpy + ™
compared with that of small firms in a morc com- a larger management team and, unlike o Smal); hay,
petitive industry. This can be anlaysed with the it will find it difficult to make decisiong firm,
help of the graph below: This can often be the case where cOmpaniizlckl .

merged and there are two scts of managcmcntha,
a MC different idcas. A ‘them and us’ situation maywnh

Cost & (Industry S curve) develop between the management apg a
revenue workforce, possibly resulting in an increage inl!:
J

ATC number of industrial disputes. It may be diffig,
co-ordinate planning, marketing, production and to
S0

MPd
on, with a resulting incrcase in the company’ "
St

per unit.

In conclusion economic theory neither completely

! supports government ZlSSlS.lilnCC to large firms hor

Y D=AR docs it completely rule this out. Rather cconomi

0 MQ PCQ Output theory suggests that the support by governmen
to large firms should depend upon the specific jp.

formation about the particular organization being

<-s+--rs Monopoly price and 4 cadweig :
. poly priceand 4 Deadweight discusscd.

Tenennd * output equilibrium.

PCP b | wmenine B D = AR=MR=MC=AC

Perfect comp. price
and output equilibrium.

Question 7
Discuss whether there is a relationship between
the marginal cost curve of the firm and the supply
curve of the industry to which it belongs. (13]

[N10/PHQ3)

Figure above compares the profit-maximising posi-
tion for a dominating large firm with that of small
firms. The large firm will produce MQ at a price of
MPd. This is where MC = MR. 1f the same industry
were shared by relatively small firms, it would pro-
duce at PCQ and charge the price PCPb. This is
where industry supply equals industry demand.
Thus large firm produces a lower output and Essay
charges a higher price. In doing so the firm cap-

tures consumer surplus and turns it into abnormal Marginal cost (MC) is thc extra cost of producing
profit. This analysis is based on the assumption one more unit of output. MC is determined by the
that the industry has the same AC and MC curves
in case of both large and small firms.
Moreover large firms result in limited choice avail- MC
able to consumer thus depriving consumers of va-
riety that they would have enjoyed if there were
large number of relatively small firms. Also large

following:

_ Change in Total cost (TC)
Change in output
or MC= Tcn - TCn—l

In the short run MC can also be calculated from
only differend

firms usually adopt predatory pricing to restrict the total variabl b h
competition and discriminatory pricing to appropri- batweer 1 tr,lla © cost d eca?s;': t ; st is the co™
ate consumer surplus. Both these pricing strategics stant.am © ‘: cfo;t a(r; tota hl s hco hange in
are thought to work against the interest of consum- and that Zlfl'r\]/a?iabll);ecoz(t)i%rznuesxttr: ﬁnit of outpy!
ers

. . ) ¢ shows
Large firms also create different barriers to entry ;S :lg?:: t?tersez;r:;- At;‘yplcafl M(j;u;z f:}:s;n rises:
which allow profits to remain supernormal even in This shaoe of Mces : n?mlmonse uence of
the [ong run. The large firm, therefore, sheltered by law ofdifn' ishi curve is a conzed
Pa{rlers to entry, can still make large profits even if ; l.ms s rve of
it is not using the most efficient technique. Relationship between the marginal CPSt .
Furthel:more, large firm’s average costs may in- thti ﬁ;m and t.he su?Ply curve of the ";filtjiVe ar
crease in the long run with the firm experiencing ﬁ:ty © established in g perfectly 0P

diseconomies of scale. These diseconomies of

4
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Perfect competition is characterized by large num-
ber of relatively small firms producing homoge-
neous products in the absence of entry exit barri-
ers. Price in such conditions is determined by total
demand and supply forces in the market and each
individual firm produces such a small fraction of
total output that a change in its output does not
affect the total market supply. Thus all the firms are
price takers and each firm faces a perfectly elastic

demand curve.

For a perfectly competitive firm its demand curve
is simultaneously its average revenue (AR) and
marginal revenue (MR) curve i.e. AR=MR=Price.
Profit maximization rule suggests that firm maxi-
mizes revenue or minimizes loss where MC = MR

as shown in the graph below:

($)A MC
AC
P
D =AR=MR
Y Q OulplTl

Thus the profit-seeking competitive firm, faced
with certain costs, would choose to offer OQ out-
put at OP price because firm’s MC =MR. Since P =
MR therefore this information — product price and
corresponding quantity supplied — gives us a
point on the supply curve for the competitive firm.
The graph below illustrates the MR = MC rulc and
the relationship between short-run MC and the
firm's supply behavior. The ATC, AVC, and MC
curves are shown, along with several marginal-rev-
enue lines drawn at possible market prices. Let’s
observe quantity supplied at each of these prices:

cost and A
revenue MC
P e/ MR,

$

P, v ATC\ d /::' / MR,
P, C\ \: [f_)// MR,

LN/

! !

P b/ 7]
T MR,
\ | | 2
e v

) Eoy

Loy h

[

oy b
0 Ll >
Q, Q,QQ; quantity
supplied

In the graph above price OP, is below the firm’s
minimum avcrage variable cost, so at this price the
firm won’t operate at all. Quantity supplied will be
zero, as it will be at all other prices below P,. Price
P, is just equal to the minimum average variable
cost. The firm will supply units of output (where
MR, = MC) and just cover its total variable cost.
Its loss will equal its total fixed cost. Actually, the
firm would be indifferent shutting down or supply-
ing Q, units of output but we assume it produces.

At price P, the firm will supply Q; units to mini-
mize its short-run losses. At any other price be-
tween P, and P, the firm will minimize its losses by
producing and supplying the quantity at which
MR (=P)=MC.

The firm will just break even at price P,. It will
supply Q, units of output (where MR ;= MC), earn-
ing a normal profit but not economic profit i.e. total
revenue will just cover total cost, including a nor-
mal profit.

Note that each of the MR (= P) = MC intersection
points labeled b, c, d and e in Figure above indi-
cates possible product price corresponding quan-
tity which the firm would supply at that price.
Thus, points such as these are on the upward slop-
ing supply curve of the competitive firm. Note too
that quantity supplied would be zero at any price
below the minimum average variable cost (AVC).
Therefore we conclude that the portion of the ris-
ing marginal-cost curve lying above average-vari-
able-cost curve is short-run supply curve. In Fig-
ure the solid segment of the marginal cost curve
MC is this firm’s short-run curve because it tells
us the amount of output the firm supplies at cach
price. However, in the long run the rising portion
of long run marginal cost curve (LRMC) above
long run average cost curve (LRAC) is the firm’s

supply curve.

So far we have developed the competitive firm’s
short run supply curve by applying the MR(= p) =
MC. We can now derive the industry’s supply
curve by adding the supply curves of the indi-
vidual competitive firms. Thus the industry’s sup-
ply curve is the horizontal sum of the rising por-
tion of MC curves of all individual firms.

On the contrary monopolist has no supply curve
because there is no relationship between price and
quantity supplied. Like the competitive firm, the
monopolist equates MR and MC to determine out-
put, but for the monopolist MR is less than price.
Because the monopolist does not equate MC to
price, it is possible for different demand conditions
to bring about different prices for the same output.
To consider this we use the following graph:
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The MR, intersects the MC curve at the same
point, as does the MR,. With the AR, and MR, the
same output OQ now corresponds with a higher
profit maximization price.

In conclusion a relationship between the marginal
cost curve of the firm and the supply curve of the
industry can be established only in a perfectly
competitive market. However, no such relationship
exists in any other form of market structure.

Question 8

Explain the economic theory of profit maximisation
for a firm and consider whether firms are likely to
follow this theory in fixing their price and output.

[13]
[J11/P4/Q4(b)]

s

Essay

The traditional theory of the firm tends to make a
standard assumption that businesses possess the
information, market power and motivation to set a
price and output that maximises profits in the short
or long run.

Economic theory of profit maximsation suggests
that if a firm decides that production is worth un-
der taking, it must then decide how much to pro-
duce in order to earn maximum possible profits.
The key to decide the level of output is that the
firm should carry out an analysis on a unit-by-unit
basis. If any unit of production adds more to rev-
enue than it does to cost, producing and selling
that unit will increase profits. However, if any unit
adds more to cost than it does to revenue, produc-
ing and selling that unit will decrease profits. In
economic terminology, a unit of production raises
profits if the marginal revenue (MR) obtained from
selling it exceeds the marginal cost (MC) of pro-
ducing it. Alternatively it lowers profits if MR is

less than MC of producing i, .

Thus we say that if MR is greater than M
should expand its output. However, ifp, the iy

i# less than MC the firm should redyc, if;'rm-,, W
From this it follows that firm Maximize ; Ol'l'lpm
rofj !

the level of output where its MR = MC, A P
put below this, the firm is sacrificip p:)' oy,
profit, whilst any output above it ig being sOtcnlial
loss, reducing the firm's total profit. py,
zation thercfore is an ideal for firmg ¢

iy
fit mayiy

Work g,
A criticism of the traditional profit Maxin,
theory sometimes put forward is that firms do""&
use MR and MC concepts. It is argued thatn-
practice, it may be difficult to apply mainly beca’u;:
of inability of firms to calculate MC ang MRy
precision. Instead the firms prefer to simply work
out the cost per unit and add on a profit margin i,
order to determine the selling price. The cogt plis
pricing is unlikely to result in maximum profit, al.
though it could produce a high level of profit,

The main difficulty in trying to maximise profits
using MC and MR approach is a lack of informs.
tion. Firms may well use accountants' cost cop.
cepts not based on opportunity cost. In sucha
casc it is impossible to measure true profit.

More importantly, firms are unlikely to know pre-
cisely (or even approximately) their demand curves
and hence their MR curves. Even though they will
know how much they are selling at the moment,
this only gives them one point on their demand
curve and no point at all on their MR curve. In or-
der to make even an informed guess of marginal
revenue they must have some idea of how respon-
sive demand will be to a change in price.

Market research may help. But even this is fre-
quently very unreliable. Such information takes
time to acquire and action, by which time market
conditions may have changed, thus making the
information out of date.

The biggest problem in estimating the firm's de-
mand curve is in estimating the actions and "ef’c'
tions of other firms and their effects. Collusl‘:"
between oligopolists or price leadership ""ouo
help, but there will still be a considerable 3"?_00
uncertainty, especially if the firm faces competitt
from abroad. Even other industries' product m3Y
substitutes or complements to some degree’ﬁ 5
will affect the price elasticity of demand for
product. ime
Finally there is the problem of deciding d;;ng 0
period over which the firm should be s¢€ envi’
maximise profits. Firms operate in 2 changl"gu
ronment. Demand curves shift; supply ¢

r
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shift. Some of these shifts occur as a result of fac-
tors outside the firm's control, such as changes in
competitors' prices and products, or changes in
technology. Some, however, change as a direct re-
sult of a firm's policies, such as an advertising cam-
paign, the development of a new improved prod-
uct, or the installation of new equipment. The firm
is not, therefore, faced with static cost and rev-
enue curves from which it can read off its.

The assumption of profit maximization is now
criticised by economists who believe that modern
corporations are complex organizations made up of
various groups or stakeholders such as, employ-
ees, managers, shareholders and authorities. Each
of these groups is likely to have different goals at
different points in time. The dominant group at any
moment in time can give greater emphasis to their
own objectives —for example price and output de-
cisions may be taken at local level by managers —
with shareholders taking only a distant and imper-
fectly informed view of the company's performance

and strategy.
These economists argue that a business might

have profitability as an important long-term aim; it
might depart from this in the short term in order to
achieve a variety of different objectives.
For instance, a firm choosing to maximize sales rev-
enue would raise output beyond MC = MR until
MR had fallen to zero. In this case the firm may be
willing to accept lower short term profit in order to
increase its share of the market. This is also pos-
sible when businesses correlate annual raise in
salaries and other perks with total sales revenue
and rapid growth rather than profits. Hence man-
agers may be assumed to want to maximize their
own utility by perusing sales revenue maximization
and growth.
Alternatively, the firm might opt to maximize the
volume of sales rather than sales revenue. In this
option the firm would increase output up to the
break-even level where the total revenue just cov-
ered'the total cost. A higher output implies loss-
making behaviour. The only situation where this
would be possible is where the firm could use the
fmﬁt frO{n some other activities to cover these
T?lls:e:;ol;tslll'lf the principle of cross subsidisation.
i 40 gain alt el})l' motive for loss-making behaviour
entrants int:e old in a new market or to deter new
Satisfici an e'x1stmg one. :
dete ":lci'nl%?gl::vll(our would occur when a firm is
Satisfy the Sharelal tlzda reasonable level of profits to
stakeholders ha s re outalao 1o kecp tho other
Profit in order tOPiPY' It may choose to sacrifice
mprove the workforce's pay and

;

conditions or to keep prices down for the benefit
of consumers. Satisficing can also be a feature of
firms that have enjoyed a high market share over a
long period of time. Complacency can lead to firms
losing their focus on the cost structure or failing
to devote resources to either product or process
innovation. Either situation can lead to a loss of
profits. Also some firms may have charitable or en-
vironmental objectives, which must be financed at
the cost of profit.

In conclusion, practically the objectives and tar-
gets of a corporation or small enterprise will evolve
to meet changing economic conditions. But as a
working assumption, it is still valid to see profit
maximization as the major long term objective influ-
encing firm's competitive behaviour.

Question 9

(a) Explain why there may be different levels of profit
within perfect competition and between perfect

competition and monopoly. [12]

(b) Discuss whether the average variable cost has any
significance in a perfectly competitive market struc-
ture in determining (i) the output produced by a
firm and (ii) the profit of a firm. [13]

[J12/P4/03]

Essay

(a) Perfect competition describes the market structure
where large number of relatively small firms pro-
duce homogeneous product that are perfect sub-
stitute. This leads to all firms being "price takers"
with a perfectly elastic demand curve for their
product. In addition to this there exists perfect
freedom of entry and exit from the industry. This
implies that firms face no sunk costs and entry and
exit from the market is feasible in the long run.
Moreover, consumers have all readily available in-
formation about prices and products from compet-
ing suppliers and can access this at zero cost. Like-
wise sellers have perfect knowledge about their
competitors. Furthermore, the inputs - land, labour
and capital can be switched in response to chang-
ing market conditions, prices and incentives.

Since the individual firm is powerless to change the
price of its product, therefore, it maximizes profit by
adjusting output to the point where its marginal
revenue equals marginal cost. In such conditions
profit may range from abnormal, normal and sub-
normal in the short run. However, due to the ab-
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sence of entry exit barriers, profit is maintained at
the normal level in the long run. The graph below
illustrates this;

Market price Firm

. A
> s
Ry
NV N L ARMR,
¢ Ly ¢ /|8
\A/ \ / AR=MR

D

-0 qQ q g
quantity quantity

MC
AC

In the short run, the interaction between demand
and supply determines the "market-clearing" price
OP. This price is taken by each firm. The average
revenue curve is their individual demand curve.
Since the market price is constant for each unit
sold, the AR curve also becomes the marginal rev-
enue curve (MR) for a firm in perfect competition,
For the firm, the profit maximising output is Oq
where its MC = MR. This output generates a total
revenue (OP x Oq) which is the same as total cost
(e,q9 % Oq). In this situation the firm is said to earn
normal profit because the AC incorporates the ele-
ment of normal profit. It is the minimum level of
profit required to keep factors of production in
their current use.
Let's now assume that an increase in the market de-
mand to D, raises the price to P,. The firm adjusts
its output to q, because its MC = MR, at point e.
In this case the firm is earning abnormal profit be-
cause its AR is greater than AC. If most firms are
making abnormal profits in the short run, this en-
courages the entry of new firms into the industry.
This will cause an outward shift in market supply
forcing down the price. The increase in supply will
eventually reduce the price until price = long run
average cost. At this point, each firm in the indus-
try is making normal profit. Other things remaining
the same, there is no further incentive for move-
ment of firms in and out of the industry and a long-
run equilibrium has been established.

Similarly firms may earn sub normal profits in the
short run. However, the loss will not persist in the
long run because some firms will be forced to leave
the industry. This will decrease the market supply
and increase the price to the level where remaining
firms eam normal profit.

Unlike perfect competition a pure monopoly exists
when therg is a single seller of a product for which
there is no close substitute. The firm is the indus-
try and is usually protected from actual competi-
tion by a number of entry barriers. This means that

the monopolist faces a downward slapiy

i 8de
curve as shown in the figure below; Mang

Price

AC
l) V) ’///
7

(D)AR

- —»
0 q Output

Since the demand curve (AR) is downward gy,
ing, MR must be less than AR. The monopojig
maximizes profit where its MC =MR. The pric,
charged is OP and the output OQ. This results i
supernormal profit highlighted by the area PBAC
in the graph above. As with perfect competition
monopolist may undergo a short period sub nor.
mal, normal or supernormal profit. However, in the
long run the monopolist, unlike perfect competi-
tion, is expected to continue to earn supernormal
profit owing to the existence of entry barriers. Cop-
trol over, for instance, the supply of raw material
will create an effective barrier to entry, In certain
markets legal protection such as patents or copy
rights might prevent the emergence of competition.
In certain other industries there may be a natural
tendency towards monopoly. This is especially
true of industries where economies of scale result
in average cost to fall as output expands.

Thus it follows that in a perfectly competitive mar-
ket there may be different levels of profit in the
short run but the market continue to earn normal
profit in the long run, However level of profit in the
long run are different within monopoly and perfect
competition mainly due to the existence of effec-
tive entry barriers in the former.

() (i) Inthe short run, because at least one factor of

production is fixed, output can be increased
only by adding more variable factors. Hence
the portion of total costs incurred on variable
factors is called variable costs. These cOStS
vary directly with output. Examples of variable
costs include the costs of intermediate ra¥
materials and other components, the wages ©
part-time staff or employees paid by the houf
etc. Firms calculate average variable cost
(AVC) by dividing their total costs (TC) on
output. AVC is a useful measure in the short
run particularly when the firm is in a 10s$ mf‘k'
ing position and therefore, needs t0 decide
whether to continue production or shut down-

A.J
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h below illustrates the output deci-
perfectly competitive firm operating
in the short run. The profit maximizing rule
MR = MC shows the relationship between
short-run MC and the firm’s supply behavior.
The ATC, AVC, and MC curves arc shown,
along with several AR =MR lines drawn at
possible market prices. Let's observe output
nd supplied at cach of these

The grap
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rket price P, is below the

In the graph above ma
so at this

firm’s minimum average variable cost,
price the firm will decide not to oper-ate at all.
Quantity supplied will be zero, as it will be at
all other prices below P,. This is because the
market price below AVC will have loss on VC
that the firm can avoid by closing down. On
the other hand P, is just equal to the minimum
average variable cost. The firm will supply Q5
(where MR, =MC) and will just cover its total
variable cost. Now the firm’s loss will equal its
total fixed cost. Actually, the firm would be in-
different shutting down or supplying Q, units
of output because the loss on FC is unavoid-
able in the short run, however, we assume it
produces.

Thus in the short run a loss making firm will
continue to produce as long as its AVC is be-
low the market price. A market price below the
n'!mimum level of AVC will induce the firm to
discontinue its output at least in the short run.

The profit maximizing output is determined by

a firm’s MC = MR and on this output the level

of profit/loss is measured by comparing aver-

age ‘cost's and average revenue, For a firm op-

:r;nixg in a perfectly competitive market

A 1h_e l:hand AC represents per unit costs. AC

e ort run is obtained by adding average

josia ;cl):sts and average variable cost.

ot C+AVC, So a change in AVC will have
pact on both the firm’s AC and MC. In

¥~—

Costs

A

return change in MC will have impact on the
firm’s equilibrium output and change in AC will
influence the firm’s level of profits. Consider
the following graph.

MC,
: ATC,
ATC
\‘[\ / AYR=MR

AVC,
Ze

A

4
| _—1
f
| —

—

(b) Discuss whether a firm i
is more likely to act in
firm that is a monopely.

4, 9 Output (Q)

At price P firm's MC, equals its MR at point 'e'
and therefore the profit maximizing output is
og. At this output AR (eq) minus AC (bq) in-
dicates average profit PA. This average profit
multiplied by output (oq) gives total profit
PAbe. Now let's assume that the firm's'average
variable cost rise thus s
AVC,.
total cost also rise to MC, and AC,.
nates the abnormal profit and reducces the
firm's profit to the normal level where its

AC = AR. Any further increase in the firm's
AVC will force its AC to rise above AR leading
the firm into loss.

Thus in the short run, a change in the firm's
AVC influences the level of profit carned by a

perfectly competitive firm.

hifting the curve to

As a result firm's marginal and average
This elimi-

Question 10 )

(a) Explain what is
why prices mig
market than in a perfectly com

meant by an oligopoly market and
ht fluctuate less in an oligopoly
petitive market. [12]

n monopolistic competition
the public interest than a

[13]
[N12/P4/Q3]

Essay

(a) Oligopoly refers to a ma
relatively large firms in t
ing a large number of brand
ficiently large size so
one firm will affect the

rket where there are a few
he market usually produc-
s. Each firm is of a suf-
that the decision taken by
decisions taken by the other

R 4




A Level Economics (Essays)

_Topla ‘

firms in the macket. The firms are, therefore, mutu-
ally dependent. Thus it is an industry where there
is a high level of market concentration. This implics
that the number of firms is small enough for each
firm to realize that its competitors may respond to
anything that it docs and that it should take such
possible responses into account. Theretore, there
is no single theory of how firms determine price
and output under conditions of oligopoly. In addi-
tion to product branding it is assumed that barriers
to entry are fairly substantial and knowledge is by

no means perfect, as in the perfectly competitive
market.

Perfect competition, on the other hand, describes
the market structure where large number of rela-
tively small firms producing homogeneous product
that are perfect substitute. This leads to all firms
being “price takers”™ with a perfectly clastic demand
curve for their product. In addition, there exists
perfect information and freedom of entry and exit
from the industry. Since the individual firm is pow-
erless to change the price of its product, therefore,
it maximizes profit by adjusting output to the point
where its marginal revenue equals marginal cost.
Price in such a market, therefore, changes due to
the change in market forces of demand and supply.

However in oligopolistic market firms, in order to
decide on pricing strategies, face a basic dilemma
between competition and cooperation. Thus there
is a possibility of price competition. But price wars
prove to be costly therefore they are short lived.
Due to the threat of price wars and
the existence of effective alternative
strategies, oligopolists may engage
in non-price competition. This can
take a number of different forms
such as product differentiation,
where oligopolists can, through ad-
vertising, create a brand image for
their product. The firm may offer a
particular after-sales service or
package the product in a particular
way.

However, there is much to be gained
from cooperation in the form of col-
lusion. Collusion is an agreement on
price charged and level of output
produced. Thus it makes it possible

Costs
Revenues

e -
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Collusion can take different forms. 1t can ty,

or overt collusion, with agreement being o™
between the firms as to what price to char o h:'o e
output to produce. This type of formal 0greem o
known as a cartel and is illegal in man COun(: '
The other type is called tacit collusiop, ,I‘mflcs.
where firms behave in a cooperative wy hlus ig
not have a formal agreement. The mogt C“mmdo
form of tacit collusion is price leadership thon
price set by onc firm becomes the benchmar r:)c
other firms. '

Often the price leader in an oligopolistic marke |
the dominant firm. In this situation the largesy 0:
the most efficient firm takes the lead in setting (he
price which the other firms follow, POssibly b,
cause they fear that not doing so would leaq loq
price war. The other form of price Icadcrship is
called barometric price leadership. The price leage
may be a small firm but one which has a clog,
knowledge of the market and the prevailing eco.
nomic conditions. In this situation the barometrie
firm may institute a price change which the other
firms in the oligopolistic market follow.

Price rigidity in a non-collusive oligopoly is ex-
plained by the kinked demand curve. It assumes
that a business might face a dual demand curve for
its product based on the likely reactions of other
firms in the market to a change in its price. The
common assumption of the theory is that firms in
an oligopoly are looking to protect and maintain
their market sharc and that rival firms are unlikely
to match another’s price increase but may matcha
price fall. The graph below illustrates this situation.

A Raising price above Pl

Demand is relatively elastic because
other firms do not match a price risc
Firm loses market share and some
total revenue

Assume we start out at P1 and QL:
Will a firm benelit trom raising
price above P1? .
Will it benetit from cutting prce
below P1?

Reducing price below PU
demand is relatively inelastic
Little gain in market share - 07
firms have followed suil ia culé
prices total revenue may still

for oligopolists to act as a mo-
nopoly and achieve maximum prof-
its for the industry.

Ql\ Oulpul(Q)
| MR

If a business raises price and others leave !
prices constant, then we can expect quite f’ o
substitution effect away from this firm making
mand relatively price elastic. The business wol

F

heif
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then lose market share and expect to see a fall in
its total revenue.

If a business reduces price but other firms follow
suit, the relative price change is much smaller and
demand would be inelastic in respect of the price
change. Cutting prices when demand is inelastic
also leads to a fall in total revenue with little or no
effect on market share. The kinked demand curve
model therefore makes a prediction that a business
might reach a stable profit-maximising equilibrium
at price P1 and output Q1 and have little incentive
to alter prices.

Thus the oligopolistic firms have to decide about
particular pricing and output decision after taking
account of possible reactions of rival firms. There
is, therefore limited scope of price fluctuations
rather in most situations firms maintain their prices
and compete more on factors such as branding,
quality variation, after sale services and advertise-

ment.

According to economic theory a monopoly exists
when there is one firm in the industry. It is charac-
terized by selling a unique product and high entry
barriers. Compared with other market structures,
demand under monopoly will be relatively inelastic
at each price. This gives monopolist substantial
powers to charge a high price. Nevertheless, it is
still constrained by its demand curve i.e. a rise in
price will lower the quantity demanded. In order for
a firm to maintain its monopoly position there must
be barriers to the entry of new firms. Barriers can
be of various forms. Such as economies of scale,
high capital cost, legal barriers and various market-
ing barriers.

While monopolistic competition incorporates fea-
ture of both perfect competition and monopoly. As
yvith perfect competition there is freedom of entry
into the industry. There are many relatively small
firms in the market, each producing goods which
are slightly different from their competitors. The ex-
Istence of product differentiation means that firms
have a certain degree of monopoly power, thus if
il::)’e;i::eﬂt]heir price they do not lose all the.ir buy-
close substf;ugh they producg products which are
ing relotis ;lutef. 'I:he resul} is a downward slop-
nOPOIisticauy elastic .d.emand curve. Thl'JS a mo-
Product diffz’rzg:lpgtmve firm Is not a price taker.
sdverfic ! latxop can be reinforced through
l Ing which produces an element of brand

Oyalty,

Under monopolisitic com etition, fi

eliminates Supernormal rI:)f' t lor:j’ reeclom of entry
Produce where its AR __? it and forces t'he firm to

AC. The effect is to keep

e

the long run prices down. Under monopoly, how-
ever, barricrs to entry allow profits to remain super-
normal in the long run. Hence the monopolist is not
forced to produce where its AR = AC. Thus, other
things remaining the same, a comparison of profit
maximizing position for an industry under mo-
nopoly with that of a firm in monopolistic competi-
tion revcals that long run price will tend to be
higher and output lower under monopoly.
Furthermore, competition and availability of close
substitutes requires the firm in a monopolistically
competitive market to use the most efficient known
technique. The monopolist sheltered by barriers to
entry can still make large profits even if it is not
using the most efficient technique hence it has less
incentive to be efficient.

In addition to this monopolies may lack the incen-
tive to introduce ncw product varieties and large
monopolies may be able to exert political pressure
and thereby get favourable treatment from the gov-
ernment. On the other hand public interest is bet-
ter served because firms in monopolistically com-
petitive market provide a wide range of choice for
the consumers choose from.

There are at lcast two additional costs associated
with monopoly. One involves the resources used
by individuals in order to obtain and maintain mo-
nopoly. Society also ends up expending resources
in preventing monopolies or trying to break them
up. The other cost involves possible inefficiencies
within the monopoly firm i.e. monopolist is neces-
sarily X-inefficient i.c. costs are not minimized by
effective management.

In our analysis the assumption was that increase
in competition does not change the cost structure.
Of course, if monopoly results in higher marginal
cost, then the cost to society is even greater. How-
ever, if monopoly results in cost savings, then the
cost to society is less. A monopoly, for instance,
may be able to achieve substantial economies of
scale due to larger plant, centralised administration
and the avoidance of unnecessary duplication (e.g.
a monopoly gas company would eliminate the need
for several sets of rival gas pipes under each
street). If this results in an MC curve substantially
below that of the same industry under monopolis-
tic competition, the monopoly will produce a higher
output at a lower price. In Figure below the mo-
nopoly produces Q, at a price of P,. Compare this
with price P, and output Q, when market is mo-

nopolistically competitive.




MC mnopolisiie
o M(’
competition
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1t would benefit the society even more if the mo-
nopolist s foreed by the government (o follow mr-
ginal cost pricing (" =MC), The monapolist would
charge the price Py, even lower than P, and pro-
duce higher output L,e.Qq, Also, the monopolisf
ean use part of its supernormal profits for resenrcl)
and development and investment. It thas has a
greater ability to become dynamienlly efficient than
has the small firm with Himited funds, Also, a per
fectly contestable monopoly earns only normal
profits and s as efficient as any other firm operat-
ing in a competitive environment,

Thus freedom of entry and hence Tnek of Tong rn
supernormal profits under monopolistic competi-
tion are likely to keep prices down (or the con-
sumer, However, on the other hand, monopolies are
likely to achieve greater economies of seale nnd
have more funds (or research and development,
Thus nothing definite can be concluded,

Question 11

*The purchases a consumer makes wre based upon
marginal utility. It is this alone that determinos market
equilibrium in perfect competition,

Supply has no relevance,’

Is this true? [25]

INLUPA)

Essay

The theory of consumer behaviour explaing consumer
equilibrium with the help of equi=-marginal principle,
Utility Is the satisfuction that people derlve from the
consumption of goods and services, TU is the totl
satisfaction a consumer obtalna from the consumption
of all the units of a good consumued, While MU utility
is the satisfaction galned from consuming one extra
unit of'a good within a given time perlod, It Ix measured
by: TU, - TU, | = MU,

The law of equi=marginal utility states that the Individanl
consumer is In equilibrium when 1t I& not possible to

"'. 72
oty 1 single pemy's vinth of e LTy
product 1o stbier il ki i ine gy i 'Wv; o
Vi oweurs s ’MA/,

,/’”// » 'V’”'l - . ’/’“/I
,‘“ "‘l ”N
Where AJS o0 w0 b rions g uu, Ry

The whove equation slates thil fhe sy gy,
i o whers e gl unininy om g, “«M
spent on product w" egiiks i iilivy fp,, m‘,: ;',"’
Py spent on product b ey e i, m ,,d
st pesnnny spent onprodict i, iy kg, I, x/A
comnt allof -t producty the indiyidug) Y
When this sittion b renched 500G nor possinge 2 !é;
Individund to dncrense s 1ot ity by "“’"”r’«’nitf;"
epprenditine, o the constner coquilibying s mmwm,f
o b v e consiimer i illooated by, fug
meomie i such a o wiy that i LY fag

| : ! e
welileved, The wnnlysis nasumes he follawing,

Sdstnetion con e mensared inoutily, A o) % a1
gty kol satistaction o e LONSIIpHO of
agood, Consimer b vationnl, and therefore yap 0
i himbze st faction also lis st wd preferences s
constant, Cansumer his i foed income, mid he will he
spending on two ol goods aoand b, Product g cost.
g 22,00 cnch and product b casting 54,00 each, and
it the dndividunl i i income per time period of

ELO.00. The table below will hielp 1o explain constmer
eaquilibriom,

Product A Oumntls Mraduety
(prlee 222,00 ench) . / (Pl S0 esch)
demnnded
‘ MU of prodie MU,
Uy | MU I Aand 1y | T | MU, I,
H() H() () | oM OH |7
132 A2 20 ) oo | 32 | M
152 | 20 1) | IR
LK | 16 i | 142 | M 0

176 | & I 5 (720 20 | 9

Gliven this sltaation, 1 can be ween it the conaunier
L B equilibriom when ho consumen four unit of prov
vetamnd twao ol product b, Hore MU/ (8 the seme o
B 1or both produets, Note that i equitibrium (he eoi
Hmer obtidng total utility of 268 ulh and 1t [pow
bl (o the consumer willl an (neome ol L1000 100 '
ko higher Tovol of torl utlliy,

[T also posalble (o use margloal utlity o a enn ol
deriving a demand ourve, 11 i (the ble above ¥ N: :
Product b were o (1 (0 £2,00, (e wsiming "\M\'\\‘
thing olio remained oonatant, there would e '\\»::\: l
column for MU wied i new equilibeium would 1

\
\ e
I ordor to vestore equllibrium ooniume would!

e
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h of product “a” by 1 unit and increase the
i of product “b” by 3 units. , Hence, con-
its of a and 5 units of b at the new equilib-
Thus a fall in price of product b would
cesult in an increase in its QD. It, therefore, generates a

downward sloping demand curve.

[f this is what each consumer does, it is also what all
consumers taken together do. Thus the theory of con-
cumer behaviot predicts a negatively sloped market

demand curve.
The market demand curve is the horizontal sum of the

quantities demanded by all individual buyers at vari-
ous prices per period of time. So market demand curve
represents the aggregation of demand curves of all in-
dividual buyers. Assuming there are only three two
buyers of the product and we have already derived the
demand cutve for individual buyers using utility prin-
ciple. The graph below shows the aggregation.

Market

consumptio
consumptio
suming 3 un
fum position.

The figure above illustrates the aggregation over con-
sumers. At a price of $9 consumer A buys 2 units and
consumer B buys 7 units; thus together they purchase
9 units, yielding one point on the market demand
cutve. We generate the second point on $6 in the same
manner and hence derive the market demand curve. No
matter how many consumers are involved, the process
is the same, We simply need to add the quantities de-
manded by all consumers at each price, and the result
is the market demand curve.
Perfect competition describes the market structure
where large number of relatively small firms produce
homogeneous product that are perfect substitute. This
leads. to all firms being “price takers” with a perfectly
elastic demand curve for their product. Since price is
determined by the market forces of demand and supply
thf.refor§ the individual firm is powerless to change the
E"ce of its product. However, the firm maximizes profit
Y adjusting output to the point where its marginal rev-
tnue equals marginal cost.
The graph below illustrates this;

Market

N

\

X

o
ol
al----
lo)

The rising pottion of the firm’s marginal cost (MC)
curve is its supply curve. Market supply curve is the
aggregation of marginal cost curves of all individual
firms. Since the equilibrium price in the market is deter-
mined by the forces of demand and supply therefore a
chfinge in either demand or supply affects the market
price. Now let’s assume that the price of an important
raw material increases that increases the MC of all
firms. This results in a fall in market supply as shown
by a shift from S to S,, and causes the price to increase.
Similarly a fall in MC of all firms will increase the sup-
ply and reduce the market price.

So we conclude that market supply is no less relevant
in determining the price in a perfectly competitive

market.

Question 12
Discuss the similarities and differences between a
firm’s likely price and output policy in perfect competi-

tion and oligopoly. [25]
[N14/P4/03]

Essay

Oligopoly refers to a situation where there are a few
firms in the market producing a large number of brands.
Each firm is of a sufficiently large size that the decision
taken by one firm will affect the decisions taken by the
other firms in the market. The firms are, therefore, mu-
tually dependent. On the other hand perfect competi-
tion describes the market structure where large number
of relatively small firms produce homogeneous product
that are perfect substitute. This leads to all firms being
“price takers” with a perfectly elastic demand curve for
their product. In addition to this there exists perfect
freedom of entry and exit from the industry.

Both forms of markets are similar in a number of ways.
Firstly, they both share the same objective of maximiz-
ing profit therefore they produce a level of output
where their MC =MR. However the chances of earning
abnormal profit are greater in oligopoly because of

ers. Firms in perfect competition earn only

entry barri
entry of

normal profit in the long run due to the ease of
new firms in the industry.

Secondly, firms in both markets face similar cost condi-
tions. There is no difference in their cost structure and
firms in both markets do take account of changes in
their costs and revenues at varying prices. This is be-
cause a change in either cost or revenues has a bear-
ing on the level of profit they earn.
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However we can identify many differences in pricing
and output policy between the two markets. Slttce the
individual firm in a perfectly competitive market is pow-
erless to change the price of its product, lhcrcf‘orc: it
maximizes profit by adjusting output to the point
where its marginal revenue equals marginal cost. In
such conditions profit may range from abnormal, nor-
mal and subnormal in the short run. However, due to
the absence of entry exit barriers, profit is maintained
al the normal level in the long run. The graph below
illustrates this;

Market Firm

icc A s y MC
pnc:} g, /S' r'tc c

' a7 ARMR,
NNy A4 N

N\D AR=MR
D B

-

o Q 0 49, @

In the short run, the interaction between demand and
supply determines the “market-clearing” price OP. This
price is taken by cach firm. The average revenue curve
is their individual demand curve, Since the market price
is constant for each unit sold, the AR curve also be-
comes the marginal revenue curve (MR) for a firm in
perfect competition, For the firm, the profit maximising
output is Og where its MC = MR. This output gener-
ates a total revenue (OP x Oq) which is the same as
total cost (¢,q x Ogq. In this situation the firm is said to
carn normal profit because the AC incorporates the el-
ement of normal profit, It is the minimum level of profit
required to keep factors of production in their current
use.

Let’s now assume that an increase in the market de-
mand to D, raises the price to P\. The firm adjusts its
output to g, because its MC = MR, at point ¢. In this
case the firm is earning abnormal profit
because its AR is greater than AC. If most
firms are making abnormal profits in the
short run, this encourages the entry of new A R

firms into the industry, This will cause an 8
outward shift in market supply forcing down g | |
the price. The increase in supply will even- & &

tually reduce the price until price = long run
average cost. At this point, each firm in the
industry is making normal profit. Other
things remaining the same, there is no fur-
ther incentive for movement of firms in and
out of the industry and a long-run equilib-
ium has been established,

In the other hand oligopoly is an industry
there there is a high level of market concen-

its competitors may respond to anything that ;
and that it should take such possible resp(mes(!oes
account. Therefore, there is no single the, of Intg
firms determine price and output under conditiy, Oy
oligopoly. of
In addition to this an oligopoly exhibits product
ing, entry barriers, interdependent decisjop, Making
non-price competition. All of these featyres lead ¢, ang
ferent pricing and output decisions in oligopoly thanl .
perfectly competitive industry. )
In deciding on pricing strategies, oligopoligts face
basic dilemma between competition and Cooperg e
Unlike perfect competition there is a Possibility of
competition. If a price war breaks out, oligopolists Wil
produce and price much as a perfectly Competitiye
dustry. But price wars prove to be costly therefore they
are short lived. Due to the threat of price wars anq the
existence of effective alternative strategies, Oligﬂpolists
may engage in non-price competition. This can take 5
number of different forms such as product differentiy.
tion,. where oli-gopolists can, through advertising, Cre-
ate a brand image for their product. The firm may offy
a particular afier-sales service or package the product
in, a particular way.
However, there is much to be gained from cooperation
in the form of collusion. Collusion is an agreement on
price charged and level of output produced. Thys jt
makes it possible for oligopolists to act as a monopoly
and to achieve maximum profits for the industry,
Pricing strategy in a non-collusive oligopoly is ex-
plained by the kinked demand curve. The kinked de-
mand curve assumes that a business might face a dual
demand curve for its product based on the likely reac-
tions of other firms in the market to a change in its
price. The common assumption of the theory is that
firms in an oligopoly are looking to protect and main-
tain their market share and that rival firms are unlikely
to match another’s price increase but may match a
price fall, The graph below illustrates this situation.

aising price above p|

tiOn,
Price

Demand iy relatively clagtic because
other tirms do not match a price rise

irm loses market share and some

wtal revenue Assume we start out at P1 and QI

Will a tirm benefit from raisiog
price above P1? .
Will it benelit (rom cutting price
below P1?

-~

Reducing price below P! .
demand is relatively incla‘sllto .
Liule gain in market share .-ullil’s
firms have followed suil l‘n.L .
prices total revenue may st

ation. This implies that the number of firms
small enough for each firm to realize that

B 4
Ql Output (@)
\ e

J
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[f a business raises price and others leave their prices
constant, then we can expect quite a large substitution
effect away from this firm making demand relatively
price elastic. The business would then lose market

share and expect to sce a fall in its total revenue.

If a business reduces price but other firms follow suit,
the relative price change is much smaller and demand
would be inelastic in respect of the price change. Cut-
ting prices when demand is inelastic also leads to a fall
in total revenue with little or no effect on market share.
The kinked demand curve model therefore makes a pre-
diction that a business might reach a stable profit-
maximising equilibrium at price P, and output Q, and
have little incentive to alter prices.

So, the two markets are similar in terms of their objec-
tives and calculation of their costs, revenues and
profit. However they adopt different pricing and out-
put policies in order to maximise profit due to the dif-

ferent market conditions.

Question 13

(@ A firm in a perfectly competitive market and a firm
with a monopoly both seek to maximise their profit.
Explain, with the help of a diagram, why the levels
of price and output might be different in the two

markets. [12]
(b) Discuss whether it is always true that a firm, rather
than maximising its profits while remaining small,
will seek to grow in size. [13]

[J15/P4/Q3]

Essay

(@) The theory of firm assumes that all firms, regard-
less of market conditions; aim to maximize profit. It
means that they produce an output where the last
unit sold earns as much as it costs. This is gener-
ally used as a rule for profit maximization and is
written in an equation as MC = MR. Where MC
stands for marginal cost, the cost of producing an
extra unit. MR stands for marginal revenue, a mea-
sure that indicates the addition to the revenue
carned from selling an extra unit,

g:r;Zi:(COmPetft_iOn is one of many different types
X ﬂrm’sebt (;lonc.htnons. that economist use to explain
ber of rel:‘—n.aw]or. It is characterized by large num-
Neous prod vely small firms producing homoge-
€15, Priog inucts In the 'a_bsence of entry exit barri-
demang such conditions is determined by total

and supply forees -in-the market and the

;

huge number of sellers and enormity of the market
suggest that none will have enough market power
to influence the price through its own individual
actions. Thus all the firms are price takers and each
firm faces a perfectly elastic demand curve which it
uses it to determine its profit maximizing output.

A monopoly, however, exists when there is one firm
in the industry. It is characterized by selling a
unique product and existence of high entry exit
barriers. Compared with other market structures,
demand under monopoly will be relatively inelastic
at each price. This gives monopolist substantial
powers to charge a high price. Nevertheless, it is
still constrained by its demand curve i.e. a rise in
price will lower the quantity demanded.

So according to the theory price and output levels
may vary from one type of market to another. The
graph below can be used for a comparative analy-
sis of a perfectly competitive firm and a monopoly

in the short run.

MC

Market supply in
perfect competition

AR(Market demand)
(0] Qm Q Q

>

The graph represents the market in a perfectly com-
petitive situation The AR curve is the market de-
mand curve and MC represents the sum of MC
curves of all individual firms, it, therefore, repre-
sents market supply curve. So this intersection of
market demand and supply determines OP as the
equilibrium price in the market and all individual
firms use this to set their own output levels. Since
each firm can sell how much it produces at this
price therefore an individual firm’s demand curve
is drawn as infinite elastic.

Let’s assume that somehow the industry is mo-
nopolized by a single firm. The market demand
curve now becomes the monopolist demand curve.
So now the monopolist is facing a downward
sloping demand curve that produces an MR curve
below his AR curve. It suggests that MR now will
be less than AR =P at each level of output, This is
because if the monopolist chooses to sell more he
must reduce his price and when he does that the
cut in price applies to the total quantity that causes
his MR to fall more than the cut in price. The
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supply curve in the market now represents MC tage Qf econ.omies of scale. These , dva
curve of the monopolist. Assuming no change in come in a variety of ways known as techniea?“
ng rule MC =MR keting, financial, managerial and rjg) o M
economies. Caring

cost conditions the profit maximizi
now results in a higher price and lower output than

that of a perfectly competitive industry. As a firm grows in size it may, for instance bene

In the long run, however, if monopolist i from increased specialization. The firm m,

achieve substantial economies of scale say due to gain on marketing its products. When, for i Y %

a larger plant, centralized administration etc. the a firm buys its raw materials in bulk it may oy
preferential terms in the form of a discount, "

s able to

result may be different. If that is the case it may
result in an MC curve substantially below that of reducing the cost of each unit. On the finang
the same industry under competitive market, mo- front a larger firm may be able to obtain financ, cl
nopoly may produce a higher output at a lower favourable terms, obtaining loans from ﬁnanc;:
price. institutions at lower rates of interest. In additjo, fo

. this a large firm normally produces more tha

MC = supply(perfect competition) product and therefore takes advantage o;h:cno:?
mies of scope. Economies of scope refer to the .

duction in average total cost (ATC) made possible
MC goopoty) by a firm increasing the number of different goods

it produces. The reason is that the firm is able to
take advantage of skilled staff and technology
which can be shared by the different goods pro-

1
' 1
1 !
i i duced
N AR=D .
[ Economies of scale have the effect of increasing
L+ MR > the productiv ity of the busi
o 9.0 0 5 e productive capacity of the business and they
L help to raise profit margins. They also give a busi-
In the figure above monopolist produces Q, and ness a competitive edge in domestic and interna-
tional markets. In other cases firms may wish to

grow to increase their market dominance thereby

giving them increased pricing power in specific

charges p, price. Compare this with price p, and
can engage in

output Q, when market is perfectly competitive

(QD =QS). Perfectly competitive price is higher and
output lower than what monopoly produces markets. Monopolies, for example, )
(MC =MR). This, however may not be the usual price discrimination. Also the expansion ofa b"_s“
outcome in all situations in the long run. Even ness might be motivated by a desire t0 d“_/emry
when a monopolist benefits from economies of production and sales so that falling sales in on¢
scale in pursuit of even higher profits he may well market might be compensated by healthier demend
be charging a price higher and selling a lower out- and output in another market.
put than a perfectly competitive firm. This is not all, in fact in some cases @ firm may @
So, firms in varying market conditions may sell dif- and maximize sales revenue. It typically involW;
ferent quantities at different prices when they seek businesses charging lower prices for their pf°d”;c
to maximize profit. contrasted with profit maximisation. Usually !
underlying objective is to achieve a rapid 8"
() The traditional theory of the firm tends to make a of market share subject to the constraint that th:)
standard a}ssumption that bl_lsinesses, regardless need to achieve a minimum rate of profit ("0“"-
of their sizes, possess the information, market profit). This usually is typical with manas_er'co
trolled businesses where the annual salaries ©
correlated ™

power and motivation to set a price and output

with the view to maximize profits in the short or other perks might be more closely

total sales revenue rather than profits.
suc

long run.

However, in real world firms do not always want to However, it is also true that small firms >,

maximize profit while remaining small. A few more sole traders and many partnerships, while Olt’o -
prefer ol

ing with the view to maximize profit P/ .

main small. One of the prime reasons o :iesi v
tinued existence of small concerns is 1 t
be one’s own boss; once this desire i$ met * e

ambitious entrepreneurs may prefer other alterna-
tive objectives to profit maximization such as

growth, or sales revenue maximization etc.

In many cases firms target growth as their objec- i
tive. This is particularly true when firms look to preneurs may be content with a relatively qf oft o
and achievement of a satisfactory 16V

reduce their average costs and hence take advan-
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AL
Not only this the firm may remain small in order to
take advantage of a low price elasticity of demand
and high income elasticity of demand for specialist
«niche’ goods and services - these products can
be sold at a higher price and with a bigger profit
margin. Also some firms remain small because they

can avoid diseconomies of scale associated with

larger firms.
It therefore, follows that some firms may seek to
y

grow in size while others can target profit maximi-
zation even when they intend to remain small.

Question 14
Consumers decide what they wish to buy and as a re-
sult direct the market. Producers develop new prod-
ucts, which they then promote by advertising, in order
to maximise profits. Without producers there would be
no products to buy.
(b Discuss whether the market is dominated more
by producers or by consumers. [13]
[N15/P4/Q2(b)]

Essay

() Markets are dominated by consumers when re-
sources are allocated according to their wishes.
This usually occurs in a perfectly free market. Con-
sumer spending is comparable to votes in an elec-
tion. The businesses which receive the most votes
will be able to purchase the factors of production
needed to produce the goods demanded by con-
sumers. Therefore the firms receiving no votes will
go out of business.
Total consumer sovereignty only exists if there is
perfect knowledge or perfect information in the
market place. If consumers are to allocate their re-
sources in a way that maximise their utility, they
need to know about the products they are buying.
In many cases, consumers are well placed to make
consumption decisions. A consumer, for instance,
is likely to be the best judge of whether to buy
bananas or apples.

So far as the theory of firms is concerned, con-
SUr{lt;r are said to be sovereign in a perfectly com-
?;ct:itll:’e market. Perfect competition is character-
ducin y :‘arge number of relatively small firms pro-
entry §Xi:>?ogeneous' prqducts in the absence of
e arriers. Price in such conditions is de-
marker y total c_len}an_‘nd and supply forces in the

and each individual firm produces just a

fraction of total output, therefore, a change in out-
put by an individual firm does not affect the total
market supply and hence the market price. Thus all
the firms are price takers and each firm faces a per-
fectly elastic demand curve.

So, due to the highest degree of competition
among firms, it is the collective decisions of con-
sumers that decide what is produced, the quality,
the distribution and the price charged. Firms pro-
ducing products against the wishes of consumer
would find it hard to survive. The consumer gains
from the low price, since not only are costs kept
low, but also there are no long run supernormal
profits to add to cost. The consumers also enjoy
allocative efficiency as not only they consume the
products that they demand for but consume them
up to the desired level. The consumer surplus is
also maximised in that the consumers pay the low-
est price possible for all quantities bought.
However, there are markets where consumers’
dominance does not exist and they have to surren-
der their sovereignty to producers mainly due to
the lack of sufficient competition. In a monopoly
market situation the consumer would not be ‘king’.
This is because the producer, due to his better
bargaining position, would decide on what to be
produced, how to be produced, how much and for
whom to be produced. The monopolist can raise its
price and consumers have no alternative firm to
turn to within the industry. They either pay a
higher price or go without the good altogether.
Unlike perfect competition, where consumers’ pref-
erences are given the highest weightage, it is mo-
nopolist who decides the price, and as he reduces
the quantity, he raises the price. Thus consumer
surplus is reduced. Also, monopolist, due to lack
of competition, has little incentive to improve on
his products or efficiency. All these weaken con-
sumer sovereignty and therefore, undermine
consumer’s welfare.

In many imperfect markets, like those for cars, tele-
vision sets or computers, consumers make infre-
quent purchases. If they buy, and find for what-
ever reason that they don’t like the product, then
it is very expensive to make a fresh choice. When
they come to replace an item the product range may
have changed completely. This is different from
markets like food where consumers are making fre-
quent purchases. In the food market, consumers
can experiment at little cost and find the products
they prefer. So in general, the less frequent the pur-
chase, the less likely it is that consumers will have
considerable influence on market decisions.
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Furthermore, on many occasions consumers may
not be capable of making rational choices because
of the technical nature of the product. For instance,
consumers for the most part are unable to tell
which make of freezer has the best insulation,
which television set has the most durable compo-
nents. Thus, markets in such industries are more
likely to be dominated by producers because con-
sumers ultimately have to rely on information
provided by the sellers.

In conclusion, consumers’ control is expected to
exist in markets that are charged with competition
and also where information is perfect such as per-
fect competition. However, consumer sovereignty
is weakened when the degree of competition in a
market is low or the market does not provide com-
plete information to the consumers. Thus the bal-
ance between producer and consumer dominance
may vary from one type of market to another.

Questfon 15

The traditional theory of the firm assumes a single ob-
jective for the firm, namely the maximisation of profit.

(a) Explain whether a firm with this objective necessar-
ily always makes a profit. [12]

() Discuss how the objective in the traditional theory
may be varied in different market structures. [13]

[J16/P4/Q5]

Essay

(a) Standard economic theory of the firm assumes that
a firm's behaviour is guided by its goal to maximise
profit. It involves determining the level of output
that the firm should produce to make profit as large
as possible.

There are two approaches to analyse profit
maximisation (or loss minimisation): one involves
use of the total revenue and total cost concepts,
and the other involves use of marginal revenues
and marginal costs. Both these approaches yield
the same results. Consider the graphs below;

st MC
MC>MR
Pr— I AR=MR
Lo
I o
b
o Q Q Q, output”
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I
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,/ |
/ I
/ 1
|
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According to the rule, MC = MR, the point of in-
tersection between the MC and MR curves deter-
mines the profit-maximising level of output; thisis
OQ in the upper part of the figure. Now Consider
this firm producing output Q, where MR > MC.If
it increases its output by one unit, the additional
revenue it would receive (MR) will be greater than
its additional cost (MC). Since each additional unit
produced will add to its profit therefore increasing
output will raise firm's total profit. It is therefore in
the firm's interests to increase its level of output
until it reaches OQ where MR = MC. If it continues
to increase output beyond OQ, say to Qx where
MR < MC, the additional revenue it would receive
for an extra unit of output is less than the addr-
tional cost, and so if it cuts back on output toO_
its total profit will increase. There is only one poirt
where the firm can do nothing to improve its post
tion, and that is OQ, where MR = MC, and profit®
the greatest.

In the lower part of the graph we put togethe’ T
and TC curves. It shows the total revenue cur*? Ot
a firm with no ability to influence price. We |°°kad
levels of output where TR lies above TC, a4
the Q where the difference between TR 819
l'f“gest. This occurs at OQ, where profit is th
tical distance between points ¢ and d. -
So if the difference is positive, the firm is M™
profit.

TCs
e ver

. 4\2
Firms, however, do not always make 3 profit the )
o

fpre if the difference between TR and TC'! i
tive, the firm is making a loss; if it is zero, Gt
is earning normal profit. Positive economic P’ |
also known as supernormal profit, of 8"

4
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profit. It is the excess of total revenue over oppor-
tunity cost of doing business (TR > TC), In a per-
fectly market conditions in short run a firm may
face all possible situations. Since a perfectly com-

otitive firm is a price-taker, it cannot influence its
selling price. It can only make a choice on how
much quantity of output it should produce, This is

explained on the graphs below;

A

ATC AVC
P,=MR,=AR,=D,

P

v

Y Q Q

In graph, market price is Py, P, = MR, = AR, =D,
represent the demand curve facing the firm. Using
the rule MR = MC, the intersection of the MR and
MC curves determines the firm's profit-maximising

level of output, Q,.

We then compare P, with ATC along this same ver-
tical line at the level of output Q. Since P1> ATC,
we conclude the firm is making economic profit per
unit equal to P, - ATC, represented by the vertical
distance between points a and b. To find total
profit, we multiply profit per unit times the total
number of units produced

However if TR = TC it refers to zcro economic
profit; the firm is earning normal profit. We define
normal profit as the minimum amount of revenuc
that the firm must receive so that it will keep the
business running. So when we say that the firm is
'‘earning normal profit', the firm is carning just the
necessary revenues to cover payment for entrepre-
neurship (a cost) and all other implicit costs of
self-owned resources, after revenues have also
covered explicit costs. Consider the graph below;

A
MC
ATC Avc
) | SN . £-==P,=MR;~AR,=D;
|
[}
l
o R
Q Q"

L’:) graph, the market-determined price falls to P,
rresponding to demand curve D,. Applying

[

A
Price

0)

again the MIt = MC rule, we find the profit-
maximising level of output Q,, Comparing V, vith
ATC at output (), we see they are equal 10 oah
other; therefore, profit per upit is P, ATC <0,
Therefore, ecconomic profit is sero and the firm s
carning normal profit,

In a situation when firm's total revenue may not
cover its economic cost (118 <TC), it iy said 10 he
making a loss, This is explained on the fullowing

graph,

\.
) 5 .
;rr\--v:’r-vra—mrr-wr.
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If the market price falls below minimum ATC, such
as I, corresponding Lo demand curve 14, the firm
does not carn enough revenue to cover all ity
costs, Using the MC = MR rule, we see that the
profit-maximising or loss-minimising level of output
is Qy, at which Py < ATC, indicating the firm is mak-
ing a negative profit, or loss, ‘Therefore, Q4 15 the
firm's loss-minimising output. ATC = P’5, or the dif-
ference between points ¢ and d, represents the
firm's loss per unit of output, or loss Q If we multi-
ply this vertical distance by Q4 we get the firm's
total loss, given by the shaded arca.

So the 'maximum’ profit point is the best potential
but does not always result in profits, It varies from
one type of market to another and also varies ac-
cording to the time period within a particular mar-

ket structure,

Economic theory of the firm assumes that in all dif-
ferent market structures a firm's behaviour is
guided by the goal to maximise profit, However
there is also room in the theory for different objec-
tives in different market conditions and in different
times. ‘
Behavioural economists believe that modern corpo-
rations are complex organizations made up of vari-
ous groups or stakeholders, Stakcholders are de-
fined as any identifiable groups who have a vested
interest in the activity of a business.

Examples of relevant stakeholders might include:

«  Employees within a business
«  Managers employed by the firm
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* Shareholders - people who have an equity
stake in a business

¢ Customers in the market
e  The local community

* The government and its agencies including
local government

Each of these groups is likely to have different ob-
jectives or goals at different points in time. The
dominant group at any moment in time can give
greater emphasis to their own objectives - for ex-
ample price and output decisions may be taken at
local level by managers - with shareholders taking
only a distant and imperfectly informed view of the
company's performance and strategy.

So if firms are likely to move away from pure profit
maximising behaviour, then there are numerous dif-
ferent strategies that can be employed. Although a
business might have profitability as an important
medium-term aim, it might depart from this in the
short term.

In one such theory, it is argued that profit
maximisation may be the dominant motive of the
traditional owner-managed firm. However, in large
firms where managers are hired by the owners to
perform management tasks may be more interested
in increasing sales and maximising the revenues
that arise from larger quantities sold. This goal of
firms is referred to as revenue maximisation. This is
particularly true for firms that have a separation of
ownership and control and the rewards for manag-
ers and employees are linked to increased sales
rather than increased profits.

In other approaches it is assumed that firms may
be interested in maximising their growth rather than
their profits. Growth is attractive for the following
reasons. Firstly, a growing firm can achieve econo-
_mies of scale and lower its average costs. Secondly,
as a firm grows it can diversify into production of
different products and markets and reduce its
dependence on a single product or market. Lastly,
a larger firm has greater market power and increased
ability to influence prices. h
Some economists argue that the large modern en-
terprise cannot be looked upon as a single entity
with a single maximising objective; instead it is
composed of many separate groups within the firm,
each with its own objectives which may overlap or
may conflict. This multiplicity of objectives does
not allow the firm to pursue any kind of maximizing
behaviour. Firms therefore try to establish pro-
cesses through which they can make compromises
and reconcile conflicts to arrive at agreements, the
result of which is the pursuit of many objectives

that are placed in a hierarchy. This behaViour
termed satisficing, referring to the idea th ﬁw
try to achieve satisfactory rather than optimal’ms
'best' results. or

The self-interested behaviour of firms oftep, leag
to negative consequences for society. It js oﬂes
the case that the well-being of firms is not °0nsisrf
tent with the welfare of society. A prime example j;
the self-interested firm that pollutes the envir,,
ment. In addition, firms can engage in actions hy
most consumers would consider to be ethically yp.
acceptable, such as the practice in many develop.
ing countries of employing children who are ¢.
tremely poorly paid and forced to work long hours
or employing labour that is forced to work unde;
unhealthy or dangerous conditions. However,
many firms are increasingly recognizing that the
pursuit of self-interest need not necessarily cop-
flict with ethical and environmentally responsible
behaviour. A negative image of the firm held by
workers and customers can cut deeply into the
firm's revenues and profits by lowering worker pro-
ductivity and the firm's sales. Further, socially irre-
sponsible firm behaviour may lead to goyernment
regulation of the firm intended to minimise the
negative consequences of the firm's actions for
society, whereas socially responsible behaviour
could instead result in avoidance of government
regulation. Therefore, firms face strong incentives
to display corporate social responsibility by engég:
ing in socially beneficial activities rather than sim-
ply trying to maximize profit.

Aiming for profits, sales, salaries, power, €fc. will
be useless if the firm does not survive! Trying 0
maximise any of the various objectives may P°
risky. For example, if a firm tries to maximise'lts
market share by aggressive advertising Of price
cutting, it might invoke a strong response from lt.S
rivals. The resulting war may drive it out of busl-
ness. Concern with survival, therefore, may make

firms cautious.

The firms facing oligopolistic or monopolisti® mar

ket structure are more likely to deviate from P !

maximization. This is because they usually €3 s:s
pernormal profits and are less likely to facé Lossin'
e the

when they deviate. Also these firms hav .
centive to deviate, say in favour of gfo‘”th of m.
creasing sales or market share. However, i 8 e
fectly competitive market there is no scopé © ber
other objective but maximizing profit. This 1 un
cause there exists only normal profit in the lon% :,m
and if a perfectly competitive firm departs I
profit maximization it may not survive.
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alaii WAt i nesnt by the “equilibeinm ot peritly
sonpetitive flon® g condcer the view that equilibuti
;s AW achieved in perint aanpetition bt never ty
a nOnApoly market, 12|
INTA R
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Perfect competition desoribes the market struotie
where lacge number of relatively simall tieos pro
duce homogeneous product that ave pertiect sub
stitute. This loads to all flrms being “price ke
with & pert\\otl_\' olastic demand ourve tor thel

roduct, Tn addition to this there exixty perfout
freedom of entry and exit fromy the industey. Phis
implies that flrms fhce no sunk vosts and eney wd
exit from the market is foasible in the Tong i
Moreover, consumers have all readily available n:
formation about prices and produets from compet:
ing suppliers and can Aepess this at zoro oot ke
wise sellers have perfvet knoawledge about thelr
competitars, Furthermore, the Inputs — land,
labour and capital can be switched in response (©
chapging market canditions, prices wnd incentives,

Since the individual {lrm is powerless (0 change the
pricg of its produet, therefore, It Is In equilibrium
when it maximizes profit by adjusting output to the
paint where its marginal revenue equals marginal
gost. In such conditions proflt may range from ab

normal, narmal and subnormal in the short run,
However, due to the absence of entry exit burriors,
profit is maintained at the normal level in the long
run. The graph below illustrates this;

Market lhrm

prigo § s T AC MC
M \/ Zz! | N ¢
!

. 5 c/ ¢ v/ AR=ME,

D, AR=MR
D
o 5" o e
' In the short run, the Interaction between demand
| and supply determines the "market-clearing" price
| OP, This price Is taken by each firm. The average
| golvenuo ourve 1s thelr individual demand curve,
‘ ll\:e the market price is constant for each unit
[‘ s0ld, the AR curve also becomes the marginal rev-
' onue curve (MR) for a firm In perfect competition,
i‘ For the flrm, the equilibrium output Is Oq where It
{ MC = MR, This output | rovonus
y (O utpu generates o total revenuo
X Oq) which is the same as total cost

k

Tople 1.3 U page M

(g O st e e s sl to earn
IO P e e AL feorporates the ele-
WIOEL O D PO T Ethe i level of
POt il keepy tretos ol production in
ERLE I e

Lot now e it i nerease fh the matket
ol (0 1 tiees the price o Py The firm ad-
[ (b auipit o g1 hecanse e MC= MR, at
g e It ciae the Tl I8 earning abnormal
potie hecimie (e AR 1 wrenter than AC. 1f most
fen e tking abnormal profits in the short run,
(v eneontigen e entey of new firms into the in-
duste Tl will canse an outward shift in market
apply teeing down the price, T'he increase in
apply Will eventually yeduce the price until price
Loyt average coste AL this point each firm in
the fndistey fmnking normal profit. Other things
poran g the saie, there f5no (urther incentive for
movement of fivi e and vut of the industry and a
Long-ran equilibeium has been established.

Stntlacly i may earn suby normal profits in the
shott run, However, the Toss will not persist in the
long tin hecause some firms will be forced to leave
(he fndustey, This will decrease the market supply
and Inererse the prive to the level where remaining
(e enen normal prolit

Unlike perfect competition a pure monopoly exists
when there b single seller of a product for which
(et e no close substitute, The firm is the indus-
(y and ousually protected from actual competi-
(on by o number ol entry barriers, This means that
(he monopolist fices a downward sloping demand
cirve i shown i the figure below:

e\

| AC
IV [~
(D)AR
FUSURPPON S-S __________.___b
0 Output

Sineo the demand curve (AR) is downward slop-
(ng, MR must be less than AR. The monopolist
finds ity equilibrium where its MC = MR — the
profit maximizing lovel of output. The price charged
{5 O und the output OQ. This results in supernor-
mal profit highlighted by the area PBAC in the
graph above. As with perfect competition monopo-
(Ist may undergo a short period sub normal, normal
or supernormal profit. However, in the long run the
monopollst, unlike perfect competition, is expected
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to continue to earn supernormal profit owing to the
existence of entry barriers. Control over the supply
of raw material, for instance, will create an effective
barrier to entry. In certain markets legal protection
such as patents or copy rights might prevent the
emergence of competition. In certain other indus-
tries there may be a natural tendency towards mo-
nopoly. This is especially true of industries where

economies of scale result in average cost to fall as
output expands.

Thus it follows that firms in both market structures
produce where their MC = MR and therefore both
will be in equilibrium in the short run as well as in
the long run. For both market structures there may
be different levels of profit in the short run but a
perfectly competitive firm earns only normal profit
in the long run while a monopolist may continue to
carn supernormal profit even in the long run mainly
due to the existence of effective entry barriers.

Question 17

(@) Explain the difference between price leadership
and price discrimination. [12]

(b) Discuss whether firms always want to maximise

profits and are able to do so in the way suggested
by economic theory. [13]

[J17/P4/03]

Essay

(@ Both price discrimination and price leadership are
different pricing strategies that firms may adopt in
differing market condition. Price discrimination is
the practice of charging a different price for the
same product to different consumers when the
price difference is not justified by differences in
costs of production. If price differences are due to
differences in a firm’s costs of production, then
they do not qualify as ‘price discrimination’. Price
leadership, on the other hand, is where firms align
their prices with the price set by the firm identified
as a price leader in the market.

For a firm to be able to practise price discrimina-
tion, firstly, it must possess some degree of market
power, or some ability to control price; in other
words, it must face a downward-sloping demand
curve. Price discrimination can therefore occur in
all market structures except perfect competition.
Natural monopolies, such as electricity companies,
for instance, often charge lower prices at night than
during the day for consumption of electricity.

Topic 1.3 (3 p.s‘z
2

Secondly, the firm must be able to separate
on the basis of certain characteristjcg su
geography, age, gender, technology, inCOm:nc,
other factors to ensure that no resale of the " or
uct occurs. The price-discriminating firm g Zd.
sure that it is not possible for any consyme, 6 b:.
at the low price and resell at the higher Price, [¢
resale were possible or easy, consumerg wOl'”d
avoid purchasing from the higher price firm, ang
would try to buy the product from other co
ers who had bought at the lower price,

Chas(

nsum.

Thirdly, there must be groups of consumers wig,
differing price elasticities of demand for the prog-
uct. This is because consumers with a relatively
low PED will be willing to pay a higher price for 5
good than consumers with a relatively higher PED.
Airlines, for instance, charge higher prices for bys;.
ness travelers than for leisure travelers, Both a
higher price for the consumer group with relatively
inelastic demand and a lower price for the consumer
group with relatively elastic demand add to the
firm’s total revenue. Price discrimination, therefore,
results in higher revenues and profits for firms. If

profits did not increase, firms would not practice
price discrimination.

Price leadership, on the other hand, may occur in
an oligopolistic market where firms do not want to
engage in price competition and therefore they may
turn towards informal types of collusion known as
informal or tacit collusion. It refers to co-operation
that is implicit or understood between the co-oper-
ating firms, without a formal agreement. The objec-
tives of tacit collusion are to co-ordinate prices,
avoid competitive price-cutting, limit competition,
reduce uncertainties and increase profits.

Dominant firm price leadership is one such form
where firms set the same price as an established
leader. The price leader may be the largest firm; the
firm that dominates the industry or the one with
lowest costs sets a price and also initiates any
price changes. The remaining firms in the industry
become price-takers, accepting the price that has
been established by the leader.

Alternative to this, the price leader may simply be
the one that has emerged as the most reliable 0"°
to follow. This is known as barometric price leade™
ship. Although the firm is not dominating thervlin.
dustry and only tries to produce where its MC.= be
and sets the price accordingly yet its price Will
followed by others, ‘ :
A characteristic of price leadership arm“gemcnts,l:
that price changes tend to be infrequent, an z:,
undertaken by the leader only when major dem?

or cost changes occur.
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it therefore follows that price discrimination and
price leadership are two different pricing strategies
that firms adopt under different market conditions
in pursuit of their goals,

Traditional theory of the firm tends to make 2 stan-
dard assumption that businesses possess the in-
formation, market power and motivation to set 2
price and output that maximises profits in the short
or long run. This assumption is now criticized by
economists who believe thzt modem corporations
are complex organizations made up of various
groups or stzkeholders such as, employees, man-
agers, shareholders and authorities. Each of these
groups is likely to have different goals at different
points in time. The dominant group at any moment
in time can give greater emphasis to their own ob-
jectives — for example price and output decisions
may be taken at local level by managers — with
shareholders taking only a distant and imperfectly
informed view of the company’s performance and
strategy.
These economists argue that a business might
have profitability as an important long-term aim; it
might depart from this in the short term in order to
achieve a variety of different objectives. A firm, for
instance, choosing to maximize sales revenue
would raise output beyond MC = MR until MR had
fallen to zero. In this case the firm may be willing
to accept lower short term profit for a higher mar-
ket share. This is also possible when businesses
correlate annual raise in salaries and other perks
with total sales revenue and rapid growth rather
than profits. Hence managers may be assumed to
want to maximize their own utility by perusing sales
revenue maximization and growth.
Altematively, the firm might opt to maximize the
volume of sales rather than sales revenue. In this
option the firm would increase output up to the
break-even level where the total revenue just cov-
ered the total cost. A higher output implies loss-
making behaviour. The only situation where this
would be possible is where the firm could use the
profit from some other activities to cover these
losses, using the principle of cross subsidisation.
The most likely motive for loss-making behaviour
is to gain a toehold in a new market or to deter new
entrants into an existing one.

Satisficing behaviour would occur when a firm is
det.ermined to make a reasonable level of profits to
satisfy the shareholders but also to keep the other
stakeholders happy. It may choose to sacrifice
proﬁf i.n order to improve the workforce’s pay and
conditions or to keep prices down for the benefit

¥

of consumers. Satisficing can 2kso be 2 ferrwre of
firms that have enjoved 2 high market shars over 2
long period of time. Complacency can lead 10 frms
losing their focus ca the cost strocture or failor
to devote resources to either product or Procsss
innovation. Either situation can lead o 2 loss of
profits. Also some firms may have charizable or
environmental objectives, which must be financed
at the cost of profit. Some public sector firms bear
losses even in the long run, s0 2s to maximize wel-
fare of the people. The losses are paid for by the
tax revenue.

I 30 ~n1}- +} ) 5 e S | -
In conclusion, practicallv the chjecives and -

o -3 = el artarmrics w3l ek
Corporaiion or small entarprise will &vohe

crhanot -~ Im A AT < 1T BT
to meet changing economic conditions. But as a
working assumption, it is stll valid to see profit
odjecve iIntiu-

bt ive 3

P 1
f
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concepts. It is argued that. in practice. it may be
i A -
difficult to apply mainly because of inability of
=~ ~al~nl

firms to calcula n

likely to result in maximum profit. although it could
produce a high leve! of profit. The main difficulty
in trying to maximise profits using MC and MR
approach is a lack of information. Firms may well
use accountants’ cost concepts not based on op-
portunity cost. In such a case it is impossible to
measure true profit.

More importantly, firms are unlikely to know pre-
cisely or even approximately their demand curves
and hence their MR curves. Even though they will
know how much they are selling at the moment,
this only gives them one point on their demand
curve and no point at all on their MR curve. In or-
der to make even an informed guess of marginal
revenue they must have some idea of how respon-
sive demand will be to a change in price.

Market research may help. But even this is fre-
quently very unreliable. Such information takes
time to acquire and action, by which time market
conditions may have changed, thus making the in-
formation out of date.

The biggest problem in estimating the firm’s de-
mand curve is in estimating the actions and reac-
tions of other firms and their effects. Collusion
between oligopolists or price leadership would
help, but there will still be a considerable area of
uncertainty, especially if the firm faces competition
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from abroad. Even other industries’ product may be also maximizes profit by producing outpy ,,
substitutes or complements to some degree, thus its MC=MR. In the ﬁgur.e below profit is maXimized
will affect the price elasticity of demand for firm’s at Q,, output and P, price.
product. cost& A welfare loss
Finally there is the problem of deciding the time revenue MC

period over which the firm should be seeking to
maximise profits. Firms operate in a changing envi-
ronment. Demand curves shift; supply curves MP

shift. Some of these shifts occur as a result of fac-
tors outside the firm’s control, such as changes in
competitors’ prices and products, or changes in
technology. Some, however, change as a direct re-
sult of a firm’s policies, such as an advertising
campaign, the development of a new improved
product, or the installation of new equipment. The
firm is not, therefore, faced with static cost and
revenue curves from which it can read off its profit-
maximising price and output. Instead it is faced
with a changing and often highly unpredictable set
of curves.

Thus it follows that firms, even if they do not know
it, will be equating MC and MR, provided they end
up maximising profits. In this case, traditional mod-
els will still be useful in predicting price and out-
put.

Question 18

The driving force of some governments is to bring
the benefits of competition to formerly
monopolised markets.

Explain the benefits that might occur in a more
competitive market compared with a monopolised
market. [12]

[J17/P4/Q7()]

Essay

A pure monopoly exists when there is a single
seller of a product for which there is no close sub-
stitute. The firm is the industry and is usually pro-
tected from actual competition by a number of en-
try barriers. This means that the monopolist faces
a downward sloping demand curve that is relatively
inelastic at each price. This gives the monopoljst
firm substantial powers to charge a higher price,
Nevertheless, it is still constrained by its demand
curve. In order for monopolist to continue to
charge a higher price and restrict other firms from
entering the market there must be barriers to entry.
As with firms in any other market type monopolist

AC
/ D=AR=MR

Pc

/ (perfect competition)
supernormal
profit D
0 MQ P

MR (monopoly)

The monopolist will produce MQ at a price of Mp,
This is where MC = MR. However, as number of
firms increases in the market it becomes more com-
petitive say monopoly to oligopoly and then to
monopolistic competition and finally to perfect
competition the demand curve that the individual
firm faces becomes relatively elastic in monopolis-
tic competition and becomes perfectly elastic in
perfect market conditions. Firm’s power to set the
price is thus weakened and eventually they be-
come price takers in a perfectly competitive price.
For instance, if the same industry were under per-
fect competition, it would produce at PQ and
charge PC. This is where industry’s supply in the
market equals industry’s demand. Monopolist, 0
the other hand, produces a lower output apd
charges a higher price. In doing so the monOBQliﬁt
captures consumer surplus and turns it into super
normal profit. Thus when market hecomes more
co.mpetitive consumers benefit in terms of lower
price and higher quantity along with increase it
their surplus. In addition consumers benefit frm
Improvement in quality and a wider choice of pl‘-ﬂd'
ucts.

This analysis is based on the assumptiqn that the
industry has the same AC and MC curves whethe’
under perfect competition or run as a monapoly:
more detailed analysis of the graph shaws that I
perfect competition, owtput js where P =MC i
could be argued to be allocatively efficient. Clearly
the monopolist is producing helow this level &
Where P>MC, the monopalist can he argued 2
producing at less than optimal output and rosult
Ing In a welfare loss shown by the shaded triangl®
So increase in competitian not only imevm

allacative efficiency but also results in welfaré 8
for the whole society.

o
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Moreover under monopoly barriers to entry allow
profits to remain supernormal even in the long run,
monopolist, therefore, is not forced to operate at
the lowest possible per unit cost because it can
still make large profits even if it is not using the
most efficient technique.

However as markets become monopolistically or
\ perfectly competitive these entry barriers erode and
firms are forced to adopt more efficient methods of
production and earn only normal profit.

As an added advantage society benefits from more
Y competitive markets as cannot adopt price discrimi-
nation and predatory pricing.

With increase in the degree of competition there are
{ at least two additional costs saved. Firstly, the
A costs of resources that monopolist uses in order
\ to maintain its monopoly powers. Society also
ends up expanding resources in controlling or pre-
venting monopolies. Secondly, additional costs re-
sulting from x-inefficient behavior of monopolist.

2 It therefore follows that competitive markets bring
; advantages all across the society.

t
4
t  Question 19
f

i For some products there has been an increasing domi-
i nance of large firms in the last five years. For example,

in the telecommunications industry most countries now
! have four or five operators, some have only two. In
! other markets many small firms exist.

J (@ Explain possible reasons why in some markets
i there are many small firms while in others the mar-
ket is dominated by a few large firms. [12]

i (b) Discuss who might benefit and who might lose
when a market becomes dominated by a few large
fims, [13]

[NI7/P4/Q4]

Essay

(®) Some markets are dominated by large firms be-
Cause potential existence of economies of scale
steer them to target growth as their main objective.
Firms can grow in size gither by investment in new
Plants and machines that is known as internal
growth or else they can opt for some form of inte-
gration that is called external growth, In many
f)a:cs firms target growth through integration in
a; er o reduce their average costs and hence take

vantage of economies of scale. These advan-

T e TR WRe W

T

B Sl

tages come in a variety of ways known as techni-
cal, marketing, financial, managerial and risk bear-
ing economies.

As a firm grows in size it may, for instance, benefit
from increased specialization. The firm may also
gain on marketing its products. When, for instance,
a firm buys its raw materials in bulk it may obtain
preferential terms in the form of a discount, thus
reducing the cost of each unit. On the financial
front a larger firm may be able to obtain finance on
favourable terms, obtaining loans from financial
institutions at lower rates of interest. In addition to
this a large firm normally produces more than one
product and therefore takes advantage of econo-
mies of scope. Economies of scope refer to the re-
duction in average total cost (ATC) made possible
by a firm increasing the number of different goods
it produces. The reason is that the firm is able to
take advantage of skilled staff and technology
which can be shared by the different goods pro-
duced.

Economies of scale have the effect of increasing
the productive capacity of the business and they
help to raise profit margins. They also give a busi-
ness a competitive edge in domestic and interna-
tional markets. However there are a number of other
reasons for firms to wish to become large and tak-
ing advantage of economies of scale is only one of
them and it is not necessarily achieved only
through integration. In other cases firms may wish
to become large to increase their market dominance
thereby giving them increased pricing power in
specific markets. Monopolies for example can en-
gage in price discrimination. Also the expansion of
a business might be motivated by a desire to di-
versify production and sales so that falling sales
in one market might be compensated by healthier
demand and output in another market. Usually the
underlying objective of integration is to achieve a
rapid growth of market. This usually is typical with
manager-controlled businesses where the annual
salaries and other perks might be more closely cor-
related with total sales revenue rather than profits.
8o firms grow large for a variety of different pur-
poses and achieving economies of scale is just one
of them.

It is true that firms through growth manage to gain
cost advantages that they can use to drive the
small firms out of the industry who normally don’t
have the same advantages. However, it is also true
that small firms such as sole traders and many
partnerships while remaining small survive suc-
cessfully. One of the prime reasons for this contin-
ued existence of small concerns is the desire to be

—
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one’s own boss; once this desire is met cntrepljc-
ncurs may be well contented with a relatively quiet
life by achieving a satisfactory level of profit. In
some casces firms may remain small in order to take
advantage of a low price elasticity of demand and
high income elasticity of demand for specialist
“niche’ goods and services-these products can be
sold at a higher price and with a bigger profit mar-
gin. Also some firms remain small because they can
avoid diseconomies of scale associated with larger
firms. Other small firms survive because they as-
sist the larger firms by producing some compo-
nents of their products at relatively lower cost. In
certain cases the market size may be relatively
small that limits the size of firms in that industry. In
other cases where personal services are required it

is simply not possible for a firm to grow large, hair
dressers, for example.

So we conclude that in some markets where firms
aim at achieving growth and the market conditions
are also conducive, few large firms dominate the
markets. In others conditions may not be all that

favourable for growth there is therefore room for
small firms to survive successfully.

(®) Theory of firm identifies a market as oligopoly
where few relatively large firms operate. It is where
there are just a few firms in the industry with barri-
ers to the entry of new firms. In such a market firms
recognise their mutual dependence and in order to
maximize joint profit they tend to collude to keep
prices high. They are more likely to do that if there
are few of them; if they are open with each other; if
they have similar products and cost structures; if
there is a dominant firm; if there are significant
entry barriers; if the market is stable; and if there is
no government legislation to prevent collusion.

If oligopolists act collusively and jointly maximise
industry profits, they will in effect be acting to-
gether as a monopoly. In such cases, the disadvan-
tages to society experienced under monopoly will
also be experienced under oligopoly. In order to
explain this let’s consider the following graph.
MC = S under perfect
1‘ competition

Pm
Pp
AR(D)
—»
0 Q

Under perfect competition the price is determined
by market demand and supply forces, henc Pp i
the market price and the industry wil se|| P out,
put. The industry is said to achieve allocatjy, eff;.
ciency because P =MC. On the other han( a coll,.
sion, acting as a monopolist, will prodyce Where
MC=MR. Thus it produces QM output anq will gg)
this at Pm price. Clearly the collusion decides ¢,
produce where MC< P, hence results in ap ineff;.
cient allocation of resources. Also this Jack of com.
petition reduces welfare of consumers because
they have a little choice available. More imponantly
it has resulted in a loss of total consumer ang pro-
ducer surplus indicated by the area 3+5. This is
known as deadweight loss and reduces the welfare

of the whole society. It therefore follows that ¢op.

sumers lose because they have to pay a relatively

higher price and are forced to consume a lower

quantity of the good. The firms are the winners be-

cause they manage to jointly maximize their profits.

These problems will be less, however, if
oligopolists do not collude, if there is some degree
of price competition and if barriers to entry are
weak. Also, the power of oligopolists in certain
markets may, to some extent, be offset if they sell
their product to other powerful firms. Oligopolistic
producers of baked beans, for instance, sell a large
proportion of their output to giant supermarket
chains, which can use their market power to keep
down the price at which they purchase the beans.

This phenomenon is known as countervailing
power.

However, In some respects, oligopoly may have
advantages to society. For example, economies of
scale can be achieved due to the large size.of
oligopolistic firms, leading to lower production
Costs to the benefit of society and the consumef
through lower prices. Moreover, large firms can use
part of their supernormal profit for research a_“d
development. Oligopolists have a considerable i
centive to do so. If the product design is imPTOVed’
this may allow the firm to capture a larger share Ts
the market, and it may be some time before rlVal
can respond with a similarly improved Proéuct:m:
in addition, costs are lowered by technological !

. con
provement, this could be passed on to th¢
sumers,

., rOd-
Furthermore, non-price competition throughi:e
uct differentiation may result in greater Ch(-) ment:
the consumer. Take the case of stereo €quiP of

v Non-price competition has led to a huge¢ rang

ionS
: . ificatio®
different products of many different specific rent

: . . 1
each meeting the specific requirements of ‘
consumers, ,
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So we conclude that there are benefits and losses
for both consumers and firms when few large firms
operate in a market. However it all depends on the
degree of competition in the market. A more com-
petitive behavior of firms renders higher advan-
tages to consumer. A collusive behaviour of firms,
however, is more beneficial for firms.

Quesrion 20

A businessman claimed it was difficult to make deci-
sions as his business was subject to uncertainty and

interdependence.

Discuss the methods used by oligopoly firms to  re-
duce uncertainty and interdependence and the extent
to which these methods exploit the consumer. [25]

[J18/P4/03]

Essay
Oligopoly refers to a market where there are a few
relatively large firms producing either differentiated
or homogeneous product. In addition, it is assumed
that barriers to entry are fairly substantial and
knowledge is by no means perfect.
Thus oligopoly is an industry where there is a high
level of market concentration. This implies that the
number of firms is small enough for each firm to
realize that its competitors may respond to any-
thing that it does and that it should take such pos-
sible responses into account. Firms therefore are
mutually interdependent for if any one firm
changes its behaviour, this can have a major im-
pact on the demand curve facing the other firms.
Oligopolistic firms therefore adopt a strategic be-
havior anticipating all possible actions and reac-
tions of rival firms for they operate under uncer-
tain market conditions.
Being interdependent firms in an oligopolistic mar-
ket face a dilemma between competition and  co-
operation. Hence there is a possibility of price com-
petition. Consumers benefit from a price ~cutting
by firms but price wars prove to be costly for firms
therefore they are short lived. As an alternative
strategy oligopolistic firms may engage in non-
price competition such as product differentiation
‘hr?ugh advertising or creating a brand image for
12:-1;'a[l);:duct.. They may also offer a particular af-
¢ service or package the product in a par-
ticular way.

However, for oligopolistic firms there is much to be
gained from cooperation amid uncertain market
conditions. This cooperation may take the form of
collusion. It is an agreement on price charged and
level of output produced. It therefore makes it pos-
sible for firms to act as a monopoly and collectively
maximize profits for the industry by eliminating
competition.

Collusion can take different forms. A cartel, for in-
stance, is a formal agreement between firms to take
actions to limit competition in order to  increase
profits. The agreement may involve limiting and fix-
ing the quantity to be produced by each member
firm, which results in an increase in price or else
fixing the price at which output can be sold; set-
ting restrictions on non-price competition; dividing
the market according to geographical or other fac-
tors; or agreeing to set up barriers to entry. What-
ever the case, the objective is to reduce uncer-
tainty by limiting competition and hence increase
the monopoly power of the firms in order to jointly

maximize profits.

In many countries, cartels are illegal — as seen by
the government a means of driving up prices and
profits, and thereby acting against the public inter-
est. However, firms may simply get round and tac-
itly 'agree' to avoid price wars or aggressive adver-
tising campaigns. This is where firms behave in a
cooperative way but do not have a formal agree-
ment. The most common form of tacit collusion is
price leadership where price set by one firm be-
comes the benchmark for other firms.

Often the price leader in an oligopolistic market is
the dominant firm. In this situation the largest or
the most efficient firm takes the lead in setting the
price which the other firms follow, possibly be-
cause they fear that not doing so would lead to a
price war. The other form of price leadership is
called barometric price leadership. The price leader
may be a small firm but one which has a close
knowledge of the market and the prevailing eco-
nomic conditions. In this situation the baiometric
firm may institute a price change which the other
firms in the oligopolistic market follow.

However in some cases when market conditiors
rule out any possibility of collusion market stab'!-
ity can still be achieved. A kinked demand curve
explains this stability in a non-collusive oligopoly.
It assumes that a business might face a dual de-
mand curve for its product based on the likely re-
actions of other firms in the market to a change in
its price. The common assumption of the theory is
that firms in an oligopoly are looking to protect
and maintain their market share and that rival firms
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are unlikely to match another's price increase but

may match a price fall. The graph below illustrates
this situation.

Revenues

Raising price above P1

Demand is relatively elastic because

other firms do not match a price rise
Firm loses market share and some
total revenue

below P1?

Assume we slart oul al P1 and QI:
Will a firm benefit from raising
price above P1?

Will it benefit from cutting price

Reducing price below P1

demand is relatively inelastic
Little gain in market share - other
firms have followed suit in cutting
prices total revenue may still fall

M\ \w

If a business raises price and others leave their
prices constant, then we can expect quite a large
substitution effect away from this firm making de-
mand relatively price elastic. The business would
then lose market share and expect to see a fall in
its total revenue.

If a business reduces price but other firms follow
suit, the relative price change is much smaller and
demand would be inelastic in respect of the price
change. Cutting prices when demand is inelastic
also leads to a fall in total revenue with little or no
effect on market share. The kinked demand curve
model therefore makes a prediction that a business
might reach a stable profit-maximising equilibrium
at price P1 and output Q1 and have little incentive
to alter prices.

Thus the oligopolistic firms have to decide about
particular pricing and output decision after taking
account of possible reactions of rival firms. There
is, therefore limited scope of price fluctuations
rather in most situations firms maintain their prices
and compete more on factors such as branding, qual-
ity variation, after sale services and advertisement.

If firms in an oligopolistic market act collusively
they will in effect be acting together as a monopoly.
In such cases, oligopoly is likely to exploit con-
sumers the same way as does a monopoly. con-
sider the graph below.

Output (Q) "

MC(induslry)

Pp !

|
|

| I

| : AR(D)

| i Market

; MR(M'prket)

0 Q, Q, output ;qusty)

The total market demand curve is shown with its
corresponding MR curve. The MC curve is the
horizontal sum of the MC curves of members.
Profits are maximised at Q, where MC = MR and P
is the market price set by the firms acting as 3 col-
lusive oligopoly.

For instance Q,, output where P =MC could be ar
gued to be the optimum level of Pf°d“°“m;;
Clearly, a collusive oligopoly will produce bel(;,e
this level where (P > MC). Consumers wo i n
prepared to pay more for additional units ﬂ;:,t
they cost to produce. It therefore suggests * a
consumers are worse off because they consun:ce
lower quantity of the good and pay a highe”;) ab
that reduces consumer surplus to the aré3 ‘i‘i
than the area P ae that they would have en-'oyen
the market was competitive. Also barriers 0 ¢
allow profits to remain supernormal in the lon%ﬂ 0
for firms are not forced to operate at the.bom uals
their AC curve. Thus, other things being o
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Jong-run prices will tend to be higher, and hence
output lower,

Moreover the firms, sheltered by barriers to entry,
can still make large profits even if they do not use
the most efficient technique. Consumers therefore
have to pay a higher price for thelit inefficiencies.

With or without collusion the firms in oligopoly are
also said to be ihvolved in wasteful competition
that uses scarce resources which could be put to
altetnative uses in producing more goods. Expen-
ditute on practices such as promotion and adver-
tisement tend to raise the price paid by the con-
sumers.

On the other hand it is often argued that firm will
not be operating at the bottom of its LRAC curve,
but the nature of the industry may allow some
econommiies of scale to be gained. The LRAC curve
would thus be lower than in the case of the larger
number of smaller firms that would be necessary if
the Industry were to be perfectly competitive. The
size of the economies of scale, if any, will obvi-
ously vary from industry to industry. Furthermore,
the consumer may benefit from a differentiated
oligopoly by having a greater variety of products
to choose from. Each firm may satisfy some par-
ticular requirement of particular consumers.

However the question is if oligopoly brings the
disadvantage of excess capacity but the advantage
of diversity, is the consumer necessarily worse off?
The answer depends on the will and choice of the
society at large.

In addition oligopolistic firms are more likely to
innovate. Being aware that new products and
processes by rival firms can threaten their survival,
existing firms must have a powerful incentive to
engage continuously in R&D. Innovative new
products often enable these firms to maintain or
increase their profit. Thus innovation can
strengthen their existing market power and at the
same time it could benefit the consumer by offer-
ing products of higher quality with improved fea-
tures.

So firms in oligopolistic markets inevitably face
interdependence and uncertainty that they try and
overcome by using a variety of different ways. The
copsumers however are more likely to face exploi-
tatlf)t} when firms collude. In a non-collusive com-
petitive oligopoly the element of exploitation is
largel'y offset by the benefits that consumers gain
from intense rivalry among the firms.

Question 21 B

Tople 1.3 & page 39

(n) Analyse the factors which determine the price of a

firm's product and its output in monopolistic com-
petition. (12)

(b) Assess the effect on output and price if a

monopoly firm maximises its sales revenue rather
than its profit. Consider who will benefit the most
from this change. [13]

[N18/P4/Q3]

Essay

(a) Monopolistic competition incorporates features of

both perfect competition and monopoly. As with
perfect competition there are many relatively small
firms and each of those firms has a small share of
the market, therefore each firm acts independently
of the others. Moreover, freedom of entry into the
industry allows the new firms to enter freely.
However firms in monopolistic competition pro-
duce differentiated products that can be reinforced
through advertising that produces an element of
brand loyalty. It therefore implies that each firm in
such an industry is a 'minimonopoly’ in the  spe-
cific version of the good that it produces and hence
faces a downward-sloping relatively elastic de-
mand curve for its product. So, if a firm decides to
raise its price by a fraction it does not lose all its
buyers even though all other firms are producing
close substitutes. Examples of monopolistically
competitive industries include clothing, restau-
rants, processed foods, jewellery, furniture,
drycleaners, etc.

Similar to firms operating in other market conditions
a firm in monopolistically competitive industry ap-
plies the MR = MC rule in order to determine its
profit maximizing output. The firm then locates the
price at which it can sell that output on the de-
mand curve it faces. Marginal cost (MC) refers to
the additional cost the firm has to incur in order to
produce one more unit while marginal revenue
(MR) represents what the firm eams from selling an
additional unit of output. According to the rule a
firm maximizes profit or minimizes loss by selling an
output where the last unit sold adds as much to its
revenue as it does to its cost. It therefore suggests
that the firm can increase its total profit by increas-
ing output when its MR >MC i.e. each additional
unit sold adds positively to its total profit until the
two are equal. Conversely, the firm increases total
profit by reducing output when its MR < MC
because it will avoid loss making units and hence
would increase total profit. Following graphs
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illustrate profit maximizing price and output of a
firm in the short run.

(c) Losses

(a) Economic Profit

economic
(supernormal)

ATC

MC

ATC

P L---

price, costs, revenue
(4]

price, costs, revenue

In the figure above the firm is making losses be.
cause P < ATC at Q.. Total loss is found by .
tiplying loss per unit with Qe as indicated by the
shaded area.

However under monopolisitic competition, freedom
of entry eliminates supernormal profit and forces
the firm to produce where its AR = AC. If, for ip-
stance, firms are earning supernormal profit, new
firms will enter the industry in the long run. As
they do, they will take some of the customers away

from established firms demand for the established

firms will therefore fall. Their demand (AR) curve

will shift to the left, and will continue to do so as

long as supernormal profits remain and thus new

i £=AR firms continue entering. Long-run equilibrium is
0 Qe\ Q reached when only normal profits remain: when
MR there is no further incentive for new firms to enter.

In the short run, the firm can make either supernor-
mal profit as shown in graph on the left or normal
profit given in the graph on the right. The firm ap-
plies MR = MC rule in order to locate the profit
maximizing or loss-minimising output (Q,), and
price (P,). For that level of output it compares price
with ATC to determine profit per unit or loss per
unit. So part (a) of the Figure shows that the firm
earns supernormal profits, since P > ATC at Q,.
Total profit is found by multiplying profit per unit
and Q. output as shown by the shaded area. in part
(b)-the firm's economic profit is exactly zero since P
> ATC at Q,, and therefore the firm is earning nor-
mal profit. However the firm may also incur loss in
the short run as shown in the graph below;

b)

So, we conclude that firms operating under mo-
nopolistic competition determines its price and

output by applying the profit maximizing rule of
MC=MR.

According to the theory of firm a monopoly exists
when there is one firm in the industry selling 3
unique product. Since there is, by definition, On!y
one firm in the industry, the firm's demand curve s
also the industry demand curve and compared
with other market structures, demand under M
nopoly is relatively inelastic at each price- This
gives monopolist substantial powers to charg® 2
high price. Nevertheless, it is still constrained %
its demand curve i.e. a rise in price will lower .
quantity demanded. In order for a firm to mainta"
its monopoly position there must be barriers t(?t )
entry of new firms, Barriers can be of Vam.)ul
forms. Such as economies of scale, high 2!
cost, legal barriers and various marketing barrlers..
As with firms in other market structures, 8 ™

nopolist also maximises profit where its

MR =MC. Consider the graph below;
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In the figure above, profit is maximised at Qm. The
supernormal profit obtained is shown by the

shaded area.

While profit maximization is the dominant objective
in most cases however according to an alternative
theory, monopolist may try to maximise revenue
rather than profit. The figures below illustrate how
price and output changes if a monopolist switches
from profit maximization to revenue maximization.

price, costs, revenue
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The profit maximiser monopolist equates MC with
MR, and produces quantity Q, which it sells at
p.rice Py. However the revenue maximizing monopo-
list produces Q, quantity which it sells at price Pr

revenue maximisation involves choosing
tt::: level of output where MR = 0. This is because
monopolist faces a downward sloping demand

*

curve with varying price clasticity of demand that
makes its MR curve to fall continuously. So now
on the upper half of demand curve where PED > 1
as price falls, output increases monopolist total
revenue (TR), obtained by Q x P, also increases
because proportionate increase in quantity has a
bigger effect on firm's TR. However TR continues
to increase and reaches a maximum where firm's
MR =0 and PED = 1. Beyond this point a further
decrease in price starts lowering the firm's TR for
now it is operating on the inelastic part of demand

curve.

It therefore follows that a revenue maximizing
monopolist sells a larger output at a lower price
than a profit maximizing monopol ist. Consumer cer-
tainly benefit from revenue maximizing behavior of
monopolist because they consume a larger quan-
tity of a good at a relatively lower price. As a result
consumer surplus increases as measured by the
area above the price and below the demand curve.

In one theory of firm's behaviour, it is argued that
in large companies, there is likely to be a divorce
between ownership and control. The shareholders
(the owners) may want maximum profits, but it is
the managers who make the decisions and manag-
ers are likely to aim to maximise their own utility
that is usually linked with revenues. This problem
of managers not pursuing the same goals as the
owners is an example of the principal — agent
problem. Agents, in this case, the managers, may
not always carry out the wishes of their principals
(the owners). Owners certainly not benefit for their
profit will be lower compared to what the manage-
ment could have earned for them by perusing the
goal of profit maximization. Managers, however,
could gain if their rewards are linked to increased
sales rather than increased profits.

So, when a profit maximizing monopoly changes its
objective to revenue maximization the owners lose
because their profits decline, consumers and man-
agers, however, are likely to-benefit.




